General hygiene
1.
Which number has hygiene rule of people’s negative influence to environment?

1. first

2. second*

3. third

4. fourth

5. fifth

2.
Which number has hygiene rule of people’s positive influence to environment?

1. first

2. second

3. third

4. fourth*

5. fifth

3.
Which number has hygiene rule of environment’s positive influence to population?

1. sixth*

2. second

3. third

4. fourth

5. fifth

4.
Exogenous or endogenous influence to human, which cause development of some disease or even death, and if it is not their direct cause, is called

1. pollutant

2. abiotic factor

3. biotic factor

4. etiological factor

5. etiological risk factor*

5.
Influence when several substances enter to human organism from one environmental object is called 

1. separate

2. united

3. combined*

4. complex

5. synergic

6.
Influence of physical, chemical and biological factors to human organism is called 

1. separate

2. united*

3. combined

4. complex

5. synergic

7.
Clear changes in human organism appear when MAC exceeded in …. times.

1. 0

2. 3-4

3. 8*

4. 100

5. 500

8.
Acute toxic exposure appears when MAC exceeded in …. times.

1. 0

2. 3-4

3. 8

4. 100*

5. 500

9.
Which principle is not a principle of hygienic regulation?

1. priority of medical indications

2. differentiation of biological response

3. distribution of sanitary safety objects

4. absoluteness of MAC*

5. accordance of MAC

10.
How is called form of investigation when we compare two groups of people: first – with influence of environmental factor, second – without?

1. parallel lengthwise

2. nonparallel lengthwise

3. retrospective transverse

4. prospective transverse*

5. conceptual selective

11.
Which number has hygiene rule of natural phenomena’s negative influence to environment?

1. first

2. second

3. third*

4. fourth

5. fifth

112.
Which number has hygiene rule of polluted environment’s negative influence to population?

1. sixth

2. second

3. third

4. fourth

5. fifth*

13.
Cause of pathological process which determines its character or some peculiarities is….

1. pollutant

2. abiotic factor

3. biotic factor

4. etiological factor*

5. etiological risk factor

14.
Influence of one environmental factor is called

1. separate*

2. united

3. combined

4. complex

5. synergic

15.
Influence when several substances enter to human organism from different environmental objects is called 

1. separate

2. united

3. combined

4. complex*

5. synergic

16.
Physiological and biochemical changes in human organism appear when MAC exceeded in …. times

1. 0

2. 3-4*

3. 8

4. 100

5. 500
17.
Mortal poisoning cases appear when MAC exceeded in …. times

1. 0

2. 3-4

3. 8

4. 100

5. 500*

18.
Which point is not a measure of epidemiological method of human health studying realization?

1. sanitary examination*

2. sanitary-statistic

3. medical examination

4. clinical observation

5. natural experiment

19.
How is called form of investigation when we compare two groups of people: healthy and sick ones?

1. parallel lengthwise

2. nonparallel lengthwise

3. retrospective transverse*

4. prospective transverse

5. conceptual selective

20.
How is called form of investigation when we study event from the past?

1. parallel lengthwise

2. nonparallel lengthwise*

3. retrospective transverse

4. prospective transverse

5. conceptual selective

21.
Lost of what water amount (in %) may cause deafness?

A. 1-5

B. 6-10

C. 11-20*
D. 21-25

E. 26-30

22.
Hygienic demands in water in tropical climate are…l.

A. 10-50

B. 50-100

C. 100-150

D. 150-500*
E. 500-1000

23.
Consumption of water of which zone may cause the renal calculi formation?

A. Arid tropic*
B. Humid tropic

C. Moderate

D. Cold

E. Arctic

24.
Consumption of water of which zone may cause the endemic goiter?

A. Arid tropic

B. Humid tropic*
C. Moderate

D. Cold

E. Arctic

25.
Calculated water consumption in tropical conditions is …l according standards (for toxicological regulations).

A. 1,5

B. 2,0

C. 2,5

D. 3,0*
E. 3,5

26.
What is the protein content (in%) in rice?

A. 10

B. 11

C. 12*
D. 13

E. 14

27.
Content of what substance in manioc may by harmful for health?

A. phasine

B. cyanogenic glycosides*
C. solanine

D. amygdaline

E. amanitine

28.
What is significant disadvantage of mango, tamarind, pineapple?

A. full-value protein deficiency*
B. low content of polyunsaturated fatty acids

C. low content of vitamins

D. rich in calories

E. high content of cholesterol

29.
If PNI (Protein nutrition index) is 83% the level of protein nutrition is…
A. adequate

B. sub compensated
C. insufficient
D. sub adequate
E. low*
30.
Consumption of cereals may lead to …

A. renal calculi

B. sprue

C. cachexia

D. kwashiorkor

E. mycotoxicosis*
31.
Content of what substance in manioc may by harmful for health?

A.
phasine

B.
`cyanogenic glycosides*

C.
solanine

D.
amygdaline

E.
amanitine

32.
If PNI (Protein nutrition index) is 83% the level of protein nutrition is…
A.
adequate

B.
sub compensated
C.
insufficient
D.
sub adequate
E.
low*
33.
What is the protein content (in%) in rice?

A.
10

B.
11

C.
12*

D.
13

E.
14

34.
What is significant disadvantage of mango, tamarind, pineapple?

A.
full-value protein deficiency*

B.
low content of polyunsaturated fatty acids

C.
low content of vitamins

D.
rich in calories

E.
high content of cholesterol

34.
Consumption of cereals may lead to …

A.
renal calculi

B.
sprue

C.
cachexia

D.
kwashiorkor

E.
mycotoxicosis

36.
Consumption of water of which zone may cause the renal calculi formation?

A.
Arid tropic*

B.
Humid tropic

C.
Moderate

D.
Cold

E.
Arctic

37.
Lost of what water amount (in %) may cause deafness?

A.
1-5

B.
6-10

C.
11-20*

D.
21-25

E.
26-30

38.
Consumption of water of which zone may cause the endemic goiter?

A.
Arid tropic

B.
Humid tropic*

C.
Moderate

D.
Cold

E.
Arctic

39.
Hygienic demands in water in tropical climate are…l.

A.
10-50

B.
50-100

C.
100-150

D.
150-500*

E.
500-1000

40.
Calculated water consumption in tropical conditions is …l according standards (for toxicological regulations).

A.
1,5

B.
2,0

C.
2,5

D.
3,0*

E.
3,5

41.
Name the sources of UVR which are used for enclosed space air sanation?

A.
erythemal-uviol lamp

B.
bactericide-uviol lamp=

C.
luminiscent lamp

D.
gas-discharge lamp

E.
incadescent lamp

42.
Name the main patological condition which is result of UVR insufficiency.

A.
failing of eyesight

B.
decreasing of resistance=

C.
gastro-intestinal system’s lesion

D.
obesity

E.
emaciation

43.
Name biochemical and humoral deviation in human organism (blood serum) which is result of UVR excess.

A.
increasing of vitamin C level

B.
increasing of vitamin PP level

C.
increasing of vitamin B2 level

D.
decreasing of complement and lysozyme=

E.
increasing of complement and lysozyme

44.
Calculate preventive dose of UVR for adults if  biodose (erythemal dose) is 3 min.

A.
5 min

B.
18 sec

C.
1 h

D.
10 min

E.
30 sec=

45.
Calculate optimal dose of UVR (for adults and children) if biodose is 3 min.

A.
7 min

B.
2,5 min

C.
1 min

D.
1,5 min=

E.
15 min

46.
Name the main sanitary and hygienic measures for UVR insufficiency prevention.

A.
east window orientation and uviol glass in window=

B.
diet

C.
chemotherapy

D.
phycological prevention

E.
serological prevention

47.
Sanation of hospital ward is effective if efficiency degree is:

A.
(20%

B.
(30%

C.
(50%

D.
(70%

E.
(80%=

48.
Sanation is effective if efficiency cofficient is:

A.
2

B.
3

C.
4

D.
4,5

E.
5=

49.
Preventive irradiation with UVR in special photarium is conducted. Calculate preventive dose of UVR for 5-years old boy if his biological dose is 5 min.

A.
30 sec=

B.
1 min

C.
3 min

D.
5 min

E.
6 min

50.
Preventive irradiation with UVR in special photarium is conducted. Calculate preventive dose of UVR for 5-years old boy if his biological dose is 10 min.

A.
30 sec

B.
1 min=

C.
3 min

D.
5 min

E.
6 min

51.
Value of patient’s biodose is measured in minutes. With which device it was determined?

A.
actinimeter

B.
ultravioletmeter

C.
Gorbachov’s device=

D.
radiometer

E.
katathermometer

52.
Very slight erythema on antebrachial skin appeared 18 hours after its irradiation through Gorbachov’s device aperture which was irradiated 6 minnutes. Prevenrive dose of this child irradiation in this photarium is:

A.
45 sec=

B.
60 sec

C.
1,5 min

D.
2 min

E.
3 min

53.
18-years old student after recovering of bronchitis was assigned to physioterapeutical department of policlinic in Sumy. In addition to inhalation preventive UV irradiation was prescribed to him for complications prevention. Point out optimal regimen of irradiation for this case.

A.
½ - 1 ED=

B.
1 – 2 ED

C.
less then 1/10 ED

D.
1/10 – 1/8 ED

E.
1/8-1/4 ED

54.
Doctor needs to determine UVR intensity according biological method. Biodosimeter was fixed on skin of abdomen lower one third of child which received sun-bathes. Duration of skin irradiation in first aperture – 2 min, second – 3 min, third – 4 min, forth – 5 min, fifth – 6 min, sixth – 7 min. 8 hours after irradiation nurse revealed two red strias. Determine biological (erythemal) dose of UVR.

A.
10 sec

B.
6 min=

C.
5 min

D.
30 sec

E.
3 min

55.
Doctor needs to determine preventive dose of UVR. Biodosimeter was fixed on skin of abdomen lower one third of child which received sun-bathes. Duration of skin irradiation in first aperture – 1 min, second – 2 min, third – 3 min, forth – 4 min, fifth – 5 min, sixth – 6 min. 8 hours after irradiation nurse revealed three red strias. Determine preventive (antirachitic) dose of UVR.

A.
60 sec

B.
10 min

C.
30 sec=

D.
2,5 min

E.
5 min

56.
During staying on a beach from 11 till 14 o’clock with intensive UVR person loose his consciousness. What could caused such reaction of organism?

A.
sunstroke=

B.
skin burns

C.
photodermatosis

D.
erytemaleffect of solar radiation

E.
photochemical effect of solar radiation

57.
Mountain-climber after mountaineering to a snow alp asked a doctor for help because of “sand in eyes sensation”, impossibility look at bright light. Objectively: hyperemia and edema of conjunctive. He had lost his protective spectacles at start of mountaineering. Diagnose sportsman’s disease and name its reason.

A.
cataract. Infrared radiation.

B.
phototoxicosis. White snow.

C.
photoallergy. UVR.

D.
photoophtalmy. UVR.=

E.
conjunctivitis. Bright sunshine.

58.
Factory’s doctor decided to conduct preventive course of UV irradiation among workers (5 men, 23-48-years old) of one workshop during preepidemic period of influenza. This irradiation is contra-indicated for workers with:

A.
all listed=

B.
open form of tuberculosis

C.
pyelonephritis

D.
body temperature 37,2˚C

E.
melanoma

59.
Housewife from Odessa, 58-years old. Last 10 years suffer from ischemic heart disease. Her have heard about timely prevention of “solar insufficiency”. Recommend her optimal variant of such prevention.

A.
to walk in the open air during 4 hours=

B.
to irradiate in photarium

C.
to wait beachfront season in Odessa

D.
to to relatives in Italy

E.
do not change her way of life

60.
For operating room air sanation is planned to use source of UVR. Five regimes was tried under calculations. For assessment of sanation effectiveness was conducted air planting with Krotov’s device and calculated efficiency degree (in%). Point out an optimal dose.

A.
>90%

B.
>80%=

C.
>70%

D.
>50%

E.
>60%

71.
The most active layer of live mattery, in which the main part of organizms are concentrated and the most active interrelations between all ecological components occured is called:

A.
biostrome

B.
biosphere=

C.
noosphere

D.
nonbiosphere

E.
paleobiosphere

72.
Part of atmosphere, lytosphere and hydrosphere in which live organisms activity taking place is called:

A.
biosphere=

B.
noosphere

C.
biostrome

D.
environment

E.
surroundings

73.
Increasing of heart ischemic disease exacerbation level was noticed during weather changing (wind intensification – 10 m/sec, temperature and atmospheric pressure – to 8˚C and 12 Hg mm respectively, electromagnetic field deviations). Determine weather type.

A.
sunny

B.
windy

C.
“hypoxic”=

D.
“spastic”

E.
indifferent

74.
28-years old man live in Kyiv and has “Chronic gastritis with diminished secretory and acid-forming functions with frequent exacerbations, remission”. He receives adequate therapy if he has exacerbation, keeps to a diet. Recommend the optimal gastroenterological sanatorium with mineral waters.

A.
sanatorium in Essentuki=

B.
sanatorium in Mirgorod

C.
sanatorium in Druskininkai

D.
sanatorium in Old Russa

E.
all listed

75.
32-years old woman live in Chernihiv and has diagnosis “Chronic glomerulonefritis, hypertension stage, remission. Chronic renal insufficiency I.” She receives adequate therapy in case of exacerbation. Recomend the nephrological sanatorium with mineral waters.

A.
sanatorium in Truskavets=

B.
sanatorium in Essentuki

C.
sanatorium in Zheleznovodsk

D.
sanatorium in Morshyn

E.
sanatoriumall listed

76.
Chernihiv cardioligist received information from weather office. Because of chromosphere flash on the Sun powerfull geomagnetic storm is expected. Give recommendations for prevention of chronic ischemic diseases.

A.
to intensify spasmolytic and anticoagulant therapy=

B.
to prescribe antihypertension drugs

C.
to prescribe confinement to bed

D.
to continue previous treatment

E.
to cancel all procedures

77.
Young husband and wife - 23-years old man, 175 cm height, 72 kg mass, electrician and 20-years old woman, 170 m height, 68 kg mass – live on radiation polluted territory in zone of guaranteed voluntary resettlement. They asked family doctor about changing of living place. They think that they are healthy. Choose for them the most optimal place for living.

A.
Poltava region=

B.
Rivno region

C.
Kyiv region

D.
Chernihiv region

E.
Cherkassy region

78.
Atmosphere air of industrial city is polluted by emissions of a few factories. A morbidity analysis shows that the most frequent disease is chronic pneumonia, especially children’s. The most probable reason of such morbidity structure is

A.
sulfur oxides=

B.
cadmium

C.
methylhydrarhium

D.
lead

E.
arsenic

79.
Among people lived near pesticide factory increases level of hereditary diseases (central paralysis, idiocy, newborn’s blindness). The most probable reason of it is

A.
mercury=

B.
strontium

C.
cadmium

D.
iron

E.
chrome

80.
There was fog in city during 7 days in November. On 4th and 5th days were hospitalized 300 people with cardiac and respiratory diseases. It exceeded previous level into 10 times. How is it called?

A.
ice-crusted ground

B.
“smog” (London type of toxic fog)=

C.
photochemical Los Angeles smog

D.
snow storm

E.
geomagnetic storm

81.
Part of surrounding which determine social, material and mental development conditions and human activity is called:

A.
social sphere=

B.
unaltered environment

C.
altered environment

D.
artificial surrounding

E.
environment

82.
Whole cyclic processes of substances and energy exchange between separate elements of biosphere caused by organisms functioning is called:

A.
biogeochemical cycle

B.
biogeochemical province

C.
biogeocenose

D.
ecological system

E.
turnover=

83.
Increasing of hypertension exacerbation level was noticed during weather changing (wind intensification – 10 m/sec, temperature and atmospheric pressure – to 8˚C and 12 Hg mm respectively, electromagnetic field deviations). Determine weather type.

A.
sunny

B.
windy

C.
“hypoxic”=

D.
“spastic”

E.
indifferent

84.
Patient in hospital with nonspecific polyarthritis before sharp weather changing feels herself worse: breathlessness, articulations edema, headache, pain in chest, rash, blood and protein in urine, increasing of temperature. Which symptom except breathlessness, , headache, pain in chest, rash is the most meteodependent?

A.
high temperature

B.
skin rash

C.
blood in urine

D.
protein in urine

E.
articulations edema=

85.
48-years old woman live in Kharkiv and has “Hypertension of I stage with frequent hypertension strokes”. She receives adequate therapy if he has exacerbation, keeps to a diet. Recommend the optimal cardiological sanatorium.

A.
sanatorium in Kharkiv=

B.
sanatorium in Koncha-Zaspa

C.
sanatorium in Vorsel

D.
sanatorium near Sea of Azov

E.
sanatorium in Jurmala

86.
11-years old boy live in Cherkassy and has “Chronic obstructive bronchitis with frequent exacerbations (3 times a month), remission. Respiratory insufficiency - 0”. He receives adequate therapy if he has exacerbation, keeps to a diet. Recommend the optimal sanatorium.
A.
sanatorium in Jaremcha

B.
sanatorium in Cherkassy=

C.
sanatorium near Black Sea

D.
sanatorium in Odessa

E.
sanatorium near Sea of Azov

87.
102-years old man from Carpathian Mountains worked shepherd for 45 years. Results of medical examination: complaints are absent, BP 130/80 Hg mm, number of breathes – 24 in 1 min, pulse – 88 in 1 min, vital lung capacity – 3 l. instrumentally there are no negative deviations in cardiovascular system. His father lived for 98 years, mother – 105. He had any diseases (except catarrh) in his life. Which factor mostly influence to life duration?

A.
ecological aspects and genetic inclination =

B.
ecological products

C.
high physical activity during a long period of time

D.
absence of pernicious habits

E.
absence of diseases during a long period of time

88.
68-years old man live in Cherkassy, has diagnose “Chronic ischemic cardiac disease with heart insufficiency III”. He receives adequate therapy. Came to doctor because heard that tomorrow will be cyclone and low atmospheric pressure. Give patient recommendations.
A.
to prescribe antihypertension drugs=

B.
to intensify spasmolytic and anticoagulant therapy

C.
to prescribe confinement to bed

D.
to continue previous treatment

E.
to cancel all procedures

89.
Cardiologist of Cherkasy received information from weather office. Because of chromosphere flash on the Sun powerfull geomagnetic storm is expected. Give recommendations for prevention of chronic ischemic diseases.

A.
to intensify spasmolytic and anticoagulant therapy=

B.
to prescribe antihypertension drugs

C.
to prescribe confinement to bed

D.
to continue previous treatment

E.
to cancel all procedures

90.
12 days in September 2006 there was anticyclone in Ukraine. There was sunny weather without of wind (calm). Maximum day temperature was 30ºC, night - 20ºC. Above transport roads and road crossings concentrated a lot of smoke, soot and exhausts of motorcars. Such type of weather is called:

A.
magnetic storm

B.
high solar activity

C.
toxic fog

D.
photochemical smog (Los Angeles type)=

E.
storm

Hygiene of emergency situation
1. MAC of CO2 in the air of  shelters for affected population is:

	
	Mode of ventilation

	
	I
	II
	III

	A.
	0.1
	0.15
	0.2

	B.
	0.2
	0.4
	0.8

	C.
	0.3
	0.6
	1.2

	D.
	0.5
	1.0
	2.0

	E.=
	1.0
	2.0
	3.0


2. What type of facilities deepened into the ground is meant for field habitation only?

A. Trench

B. Ditch

C. Dug-out=

D. Shelter

E. Blindage

3. The minimal size of shelters for affected population per 1 person is:

	
	Area, m2
	Cubic capacity, m3

	A.
	0,5
	4

	B.=
	1
	2

	C.
	2
	4

	D.
	3
	4

	E.
	4
	10


4. Flooding of the chemical plant is … type of emergencies.

A. natural

B. man caused

C. social

D. natural man caused intensified=

E. global

5. Maximum allowable indices of microclimate in shelters of III mode are:

	
	Index  

	
	Temperature, C° 
	Humidity,%
	EET

	A.
	26
	50
	19.0

	B.
	28
	60
	19.5

	C.
	30
	70
	21.0

	D.=
	32
	80
	21.5

	E.
	34
	90
	22.0


6. What type of modern field quarters is the most easy to manage and to tent?

A. cylinder uniform blocks

B. framed-inflatable=

C. sliding container rooms

D. stretching buildings 

E. camp tents

7. Depending on the depth the dug-outs are divided into such types, excepting…

A. heavy type=

B. deepened

C. half-deepened

D. cave-type

E. hillside

8. Maximum protection from the wave with pressure 3 kg/cm2 is provided by … type of the shelter.

A. C(V)

B. A

C. C(III)=

D. B(I)

E. C(VI)

9. Emergencies are classified by such concepts, excepting…

A. time of appearance

B. nature

C. scale

D. social

E. increment=

10. Light hunger is the… factor of adverse health effects in the shelters.

A. Psychoemotional=

B. physical

C. chemical

D. biological

E. natural

11. Maximum protection from the wave with pressure 3 kg/cm2 is provided by … type of the shelter.

A. C(V)

B. A

C. C(III)=

D. B(I)

E. C(VI)

12. What type of modern field quarters is the most easy to manage and to tent?

A. cylinder uniform blocks

B. framed-inflatable=

C. sliding container rooms

D. stretching buildings 

E. camp tents

13. Light hunger is the… factor of adverse health effects in the shelters.

A. psychoemotional=

B. physical

C. chemical

D. biological

E. natural

14. Depending on the depth the dug-outs are divided into such types, excepting…

A. heavy type=

B. deepened

C. half-deepened

D. cave-type

E. hillside

15. Emergencies are classified by such concepts, excepting…

A. time of appearance

B. nature

C. scale

D. social

E. increment=

16. What type of facilities deepened into the ground is meant for field habitation only?

A. Trench

B. Ditch

C. Dug-out=

D. Shelter

E. Blindage

17. Flooding of the chemical plant is … type of emergencies.

A. natural

B. man caused

C. social

D. natural man caused intensified=

E. global

18. MAC of CO2 in the air of  shelters for affected population is:

	
	Mode of ventilation

	
	I
	II
	III

	A.
	0.1
	0.15
	0.2

	B.
	0.2
	0.4
	0.8

	C.
	0.3
	0.6
	1.2

	D.
	0.5
	1.0
	2.0

	E.=
	1.0
	2.0
	3.0


19. Maximum allowable indices of microclimate in shelters of III mode are:

	
	Index  

	
	Temperature, C° 
	Humidity,%
	EET

	A.
	26
	50
	19.0

	B.
	28
	60
	19.5

	C.
	30
	70
	21.0

	D.=
	32
	80
	21.5

	E.
	34
	90
	22.0


20. The minimal size of shelters for affected population per 1 person is:

	
	Area, m2
	Cubic capacity, m3

	A.
	0,5
	4

	B.=
	1
	2

	C.
	2
	4

	D.
	3
	4

	E.
	4
	10


21. What indices of nutritional status are the most available to doctor to determine the health condition of rescue team staff during emergencies in field conditions?

A. Somatoscopic=

B. Somatometric

C. Physiometric

D. Biochemical

E. Clinical

22. Modern and the most effective method of the food concentrates preparation is…

A. regular drying

B. sterilization

C. refrigeration

D. fermentation

E. freeze drying=

23. Violation of what rational nutrition principles of rescue teams during emergencies in field conditions can cause food poisonings?

A. calorie content insufficient and qualitative composition defects

B. violation of culinary (heat) treatment rules

C. violation of dietary habits

D. using of local provision food and captured food=

E. unfavourable epidemic conditions (infectious diseases among residential population)

24. Name the most exact methods of full value nutrition medical control of rescue teams during emergencies in field conditions.

A. calculation method (menu-schedule)

B. weight control method

C. questionnaire method

D. study of nutrition state

E. laboratory analysis of food substance and meals=

25. Conducting of what documents must be controlled by medical service of rescue teams during emergencies in field conditions?

A. menu-schedule and kitchen journal=

B. control form of food quantity issued to kitchen from warehouse and their utilization

C. control form of rescue team men number and norms of daily allowance

D. invoice to food products

E. recipe book and norms of daily allowance

26. The signs of A-hypovitaminosis of rescuers are…

A. capillary resistance reduction (causeless bruises)

B. cheilosis

C. keratomalacia

D. hemeralopia (day-blindness)=

E. dermatosis

27. What food poisoning has the longest incubation period (several hours – 6-10 days)?

A. Bacterial toxicosis a) botulism; b) staphylococcosis=

B. Toxicoinfection a) salmonellosis; b) bac. Cereus

C. Mycotoxicosis a) secale cornutum; b) aspergillus

D. Poisoning by plants

E. Poisoning by pesticides, heavy metals

28. What form of nutrition organization of rescue teams during emergencies in field conditions is used on the most acute period?

A. supplying with hot food at nutrition posts using natural food products

B. supplying with hot food at nutrition posts using food concentrates

C. group nutrition with usig of field ration made from food concentrates

D. individual nutrition with usig of dry rations, emergency rations, untouchable emergency stocks, survival rations=

E. compound nutrition

29. The biggest hygienic significance has such demand to modern food concentrates as..

A. foolproof protection from poison, radioactive and bacterial factors=

B. minimal mass and volume

C. fast cooking

D. a broad spectrum

E. stable for a quick deterioration

30. In what cases you have to carry out urgent examination during nutrition organization of rescue teams during emergencies in field conditions?

A. organization of individual and group nutrition with using of dry rations and food concentrates

B. in case of food poisonings and enteric infections=

C. in case of local provision food and captured food using

D. if field kitchen will be organized

E. if food package crippled or have changed  form

31. Radioactivity of sunflower oil lot made from the sunflower in a half of the year after Chornobyl accident is 6 times more then MAL (maximum allowable level). What type of decontamination can you offer?

A. by time

B. by long term heating of the product

C. by other products in daily allowance attenuation

D. by dilution of pure oil to MAL=

E. product destruction

32. What type of research is obligatory to carry out during emergencies to prevent the outbreaks of infectious diseases?

A. Sanitary and toxicological

B. Sanitary and chemical

C. Sanitary and microbiological=

D. Radiometric

E. Organoleptic

33. 12 rescue team men appealed to the aid post doctor for medical aid. They had acute stomach ache, nausea, intestinal upset, high temperature. It was determined during anamnesis taking that they ate concentrated food and tea for breakfast, soup with pasta and meat, boiled pearl barley with tinned stewed meat and compote for lunch. Determine the provisional diagnosis.

A. botulism

B. salmonellosis=

C. staphylococcal poisoning

D. dysentery

34. typhoid fever

35. What final expert report would you make during the medical expertise of meat lot 3 days after nuclear explosion if radioactivity of the carcass is 140 μR/hour (10 times exceed the MAL to emergencies) and season of the year – summer?

A. The product may be allowed to consumption without restriction

B. The product is liable to deactivation by time (storing)

C. The product may be used as fodder

D. The product may be recycled to fertilizer

E. The product is destined to destruction=

36. What food poisoning is the most dangerous to human health?

A. Bacterial toxicosis=

B. Toxicoinfection

C. Mycotoxicosis

D. Poisoning by plants

E. Poisoning by pesticides

37. What indices of nutritional status are the most available to doctor to determine the health condition of rescue team staff during emergencies in field conditions?

A. Somatoscopic=

B. Somatometric

C. Physiometric

D. Biochemical

E. Clinical

38. Modern and the most effective method of the food concentrates preparation is…

A. regular drying

B. sterilization

C. refrigeration

D. fermentation

E. freeze drying=

39. Determine the most important requirements to rational nutrition of rescue teams during emergencies.

A. Correspondence between power inputs and caloric value of daily allowance

B. Adequacy and balance of nutrients in ration

C. Toxicological and epidemiological safety =

D. Digestibility and assimilability of food

E. Observance of eating pattern and regimen

40. What products can substitute a meat in the absence of it in ration of rescuers?

A. bread, dried crust

B. canned fish, meat=

C. peas, soy beans, haricot

D. macaroni, cereals

E. potato, cabbage, vegetables 

41. The signs of A-hypovitaminosis of rescuers are…

A. capillary resistance reduction (causeless bruises)

B. cheilosis

C. keratomalacia

D. xerophthalmia=

E. dermatosis

Radiation hygiene
1. Point out the units of absorbed dose measurement.

A. rad, gray=

B. roentgen, coulomb/kg

C. curie, Becquerel

D. ber, sievert

E. roentgen/hour, coulomb/kg/hour

2. … are used for specific activity measurement

A. roentgenmeters

B. annunciators of pollution by beta-emitting isotopes

C. radiation dosage indicators 

D. individual dosimeters

E. radiometers=

3. Natural activity of open waters is … then activity of underground waters.

A. higher

B. less=

C. the same

D. no matter

E. depends on season

4. Time, during which half of initial amount of atoms are decayed is called…

A. semiejection time

B. effective semiejection time

C. decay coefficient

D. half-life period=

E. acceleration period

5. Level of radioactive pollution of work surfaces is expressed in …

A. Curie

B. Bq/cm2
C. part./cm2·min=

D. μR/hour

E. Sv

6. Activity of radioactive substance is …

A. absorbed energy, calculated for time unit

B. dosage of quantum irradiation

C. number of decays per time unit=

D. absorbed energy, calculated for volume unit

E. quantity of energy emitted during certain time unit

7. The law of K-capture is …

A. when nucleus (one of protons) captures an electron from the nearest K-orbit and, as a result, this proton transforms into neutron and nucleus of new chemical element with the same mass number=

B. typical for heavy transuranous elements, where ratio of neutrons and protons is more than 1.6. As a result of it nuclei of two new elements are generated, where ratio n:p is closer to 1 and «superfluous» neutrons leave atoms in form of a neutron radiation

C. process when positron takes off from the nucleus of atom (one of protons) and, as a result, proton transforms into neutron and a new chemical element with the same mass number and charge, smaller by 1 is generated

D. a process when electron takes off from nucleus of atom (from one of neutrons) and, as a result, this neutron transforms into proton and a new element with the same mass number and charge, bigger by 1 is generated

E. typical for heavy (with great mass number) elements and consists in takeoff of α-particle (helium nucleus by its nature, consisting of 2 protons and 2 neurons) from the nucleus of atom, and a nucleus of new chemical element with mass number, smaller by 4 and charge, smaller by 2 appears as a result

8. Point out the units of equivalent dose measurement.

A. gray, rad

B. curie, Bq

C. R, Sv

D. Sv, ber=

E. R/hour, Wr

9. γ-radiation is …

A. high-speed electrons

B. photons=

C. flux of neutrons

D. flux of positrons

E. flux of electrons and positrons

10. Newspaper page is set as an obstacle in the α, β, γ radiation pathways.  What kind of radiation can penetrate through this obstacle?

A. α, β, γ

B. α, β

C. α, γ

D. α

E. β, γ=

11. Effective dose of radiological department economist formed 3 mSv/year. Give the evaluation of economist effective dose level.

A. lower the limit of dose by 2 mSv/year

B. lower the limit of dose by 1 mSv/year

C. equal to the limit of dose

D. exceed the limit of dose by 1 mSv/year

E. exceed the limit of dose by 2 mSv/year=

12. All radionuclides are divided into …groups due to their possible radiation hazard.

A. 1

B. 2

C. 3

D. 4=

E. 5

13. Radiation accidents are divided into … levels according to International Nuclear Event Scale.

A. 4

B. 5

C. 6

D. 7=

E. 9

14. Effective dose of X-ray department roentgenologist formed 12 mSv/year. Give the evaluation of the roentgenologist effective dose level.

A. lower the limit of dose by 8 mSv/year=

B. lower the limit of dose by 4 mSv/year

C. equal to the limit of dose

D. exceed the limit of dose by 4 mSv/year

E. exceed the limit of dose by 8 mSv/year

15. Source of γ-radiation is used for treatment of oncological patients of radiological department. Point out the index which should be chosen as the main characteristic of ionizing radiation in radiological department.

A. Effective dose rate

B. Absorbed dose rate in the air=

C. Equivalent dose rate

D. Effective equivalent dose

E. Absorbed dose  

16. Preventive examination of schoolchildren should be carried out. Choose the most from the radiosafety point of view safe method of roentgendiagnosis.

A. roentgenoscopy

B. roentgenography

C. fluorography=

D. computer-aided tomography

E. magnetic resonance tomography

17. Level of radioactive pollution of work surfaces is determined by …

A. Radiometers=

B. annunciators of pollution by beta-emitting isotopes

C. radiation dosage indicators

D. individual dosimeters

E. roentgenmeters

18. What devices are used to determine absorbed dose in the air?

A. radiometers

B. annunciators of pollution by beta-emitting isotopes

C. radiation dosage indicators

D. individual dosimeters

E. roentgenmeters=

19. Method of thermoluminescence dosimetry is used for …

A. indication of pollution of personal protection equipment

B. indication of pollution of cutaneous covering

C. individual dosimetry=

D. determination of bioassay specific activity

E. group dosimetry

20. Nature of ionization method is…

A. atomic excitation

B. formation of secondary radiation=

C. possibility to influence on photoemulsion, causing the blackening

D. possibility to cause the effect of substances luminescence

E. possibility to change the optical density of solutions

21. At the increase of distance twice from a source of ionizing radiation absorbed dose will …

A. increased in 4 times

B. increased twice

C. not change

D. diminished twice=

E. diminished in 4 times

22. Main principles of protection from external irradiation are…

A. prevention of internal ingress of radioactive substance 

B. by amount, by time, by distance, by shield=

C. planning measures, by time

D. personal hygiene, by shield

E. organizational and planning measures

23. Basic complex requirements are produced to work with … sources of irradiation.

A. Bare=

B. sealed 

C. ionizing emitters

D. roentgen apparatus

E. mammograph 

24. Protection from external radiation is provided by …

A. special ventilation and sewerage system

B. personal hygiene

C. shield  and personnel training=

D. special features of planning and equipment of premises

E. usage of body creams

25. Allowable levels of total radioactive pollution of work surfaces are determined by …

A. half-life period and duration of pollution

B. type of radiation

C. type of radiation and object of pollution=

D. type of radiation, coating material and object of pollution

E. type of radiation, half-life period, coating material and object of pollution

26. At the twice increase of contact time with a source of ionizing radiation absorbed dose will …

A. increased in 4 times

B. increased twice=

C. not change

D. diminished twice

E. diminished in 4 times

27. Point out the material possessing the best shielding properties to γ and X- radiation

A. organic glass

B. graphite brick

C. concrete

D. aluminium plate

E. lead=

28. Point out the material possessing the best shielding properties to β radiation

A. organic glass

B. graphite brick

C. concrete

D. aluminium plate=

E. lead

29. Length of β-particle track in air depends on …

A. energy of β-particles =

B. CO2 concentration

C. air temperature

D. air humidity

E. air speed

30. Point out the property of ionizing radiation used to get the X-ray image.

A. ionization

B. activity

C. energy of radiation

D. ability to accumulation in bone tissue
E. penetrating power=

31. X-ray examinations have …irradiation hazard.

A. internal

B. internal and external

C. combined

D. external=

E. complex

32. Bare radionuclides are used in…

A. diagnosis and contact methods of radiotherapy =

B. application therapy

C. distant γ and X-ray therapy

D. intracavitary therapy

E. orthopedic diagnosis

33. Effective dose of roentgenologist is formed 21 mSv per year. Suggest a measure to reduce irradiation of roentgenologist

A. increase the rate of ventilation in X-ray room

B. decrease the time of film development

C. extend the thickness of lead rubber apron

D. use the rubber gauntlets

E. decrease the time of working shift=

34. Harmful occupational factors in X–ray room are…

A. pollution by radionuclides

B. ionizing radiation, air radiolysis products, microclimate condition changes=

C. increased γ background

D. internal irradiation

E.  noise and vibration

35. Protection of the patient in X-ray room is provided by…

A. X-ray tube shielding, personal protective gear=

B. planning measures

C. proper equipment of premises

D. usage of gowns

E. special ventilation

36. Distant manipulators, protective shields are used during the work with sealed sources and working time is decreased. What principle of protection isn’t used by personnel?

A. distance

B. time

C. personnel training

D. dose of irradiation

E. activity or amount=

37. Smear technique to determine the level of pollution by radioactive substances is used…

A. when surface is highly polluted by radioactive substances

B. when surface have irregular shape and γ background is increased=

C. during accurate quantitative assessment of pollution

D. when personnel present complaints

E. when limit of dose was exceeded

38. Frequency of sanitary-radiological inspection of X-ray rooms is 1 time per…

A. quarter

B. half a year

C. year=

D. month

E. 10 days

39. 131I solution is used in radioisotope laboratory. Determine the character of possible exposure of personnel.

A. superficial

B. external

C. internal

D. internal and external=

E. distant

40. The patient appealed to dentist for medical aid. To confirm diagnosis the X-ray of tooth root should be carried out. What type of personal protective gear must be used to protect thoracic cage and pelvis?

A. cotton gown

B. rubber gown

C. lead rubber apron=

D. tarpaulin apron

E. rubber apron

41.
Radiological laboratory of milk factory received milk samples from agricultural firm “Ariadna”. Radionuclide content: Cs-137 55Bk/kg and St -90 15 Bk/kg. Give correct conclusion.

A.
it can be processed to dried milk

B.
suitable for eat=

C.
it can be processed to evaporated milk 

D.
it can be processed to kefir

E.
it can be processed to cheese

42.
During control of radiation situation in department of treatment by bare source of IR was established that level of betta-radionuclides pollution of working surfaces is 900 part/min*cm2, working clothes – 420 part/min*cm2. give conclusion about possibility of work in such conditions.

A.
work duration must be 2 hours a day

B.
work duration must be 4 hours a day

C.
work duration must be 1 hours a day

D.
personnel can work just if they take radioprotectors

E.
work duration can be all the day=

43.
Classes of work with bare sources of IR determined with consideration of:

A.
radionuclide group of radiation danger and its activity on working place=

B.
radionuclide group of radiation danger and minimal significant activity

C.
radionuclide activity on working place

D.
radionuclide group of radiation danger

E.
total activity on working place

44.
Newly wedded live in Zhytomyr in region of assured voluntary resettlement. They consult with lawyer about assured preventive measures foe decreasing of IR negative influence. Which lawyer’s recommendation corresponds to Low “About legal regime of territories polluted after Chernobyl accident”.
A.
all listed=

B.
voluntary resettlement

C.
supplying with necessary amount of radioactive clean food products

D.
gasification of their house

E.
constant dosimeter control

45.
According Low “About legal regime of territories polluted after Chernobyl accident” determination of zones’ of radioactive polluted territories categories was did with consideration of:

A.
solidity of soil pollution with caesium, strontium and plutonium isotopes over before-accident level
B.
solidity of soil pollution with caesium isotopes over before-accident level

C.
solidity of soil pollution with strontium isotopes over before-accident level

D.
solidity of soil pollution with caesium, strontium and plutonium isotops over before-accident level and value of calculated effective equivalent dose=

E.
value of calculated effective equivalent dose

46.
Agricultural firm plan to get 10-11 class schoolchildren to take part in harvest in zone of voluntary secure resettlement. School principal decision mast be next:

A.
to forbid to work for schoolchildren more than 2 hours

B.
to forbid to work for schoolchildren=

C.
to forbid to work for schoolchildren more than 2 hours

D.
to forbid to work for schoolgirl
E.
to forbid to work for 10 class schoolchildren

47.
Family of pensioner, evacuated after Chernobyl accident to Charkiv, decided to came back for permanent habitation to village which situated in zone of obligatory resettlement. The most correct recommendations are:

A.
permanent habitation is forbidden=

B.
habitation more than 1 year is forbidden
C.
habitation more than 3 years is forbidden

D.
habitation more than 5 years is forbidden

E.
habitation without additional preventive measures is forbidden

48.
Practical human activity concerned with usage of IR sources is

A.
usage of IR sources

B.
usage of IR sources in medicine, industry, agriculture

C.
producing of nuclear energy

D.
keeping and transportation of IR sources and work with radioactive wastes

E.
all listed=

49.
Under conduction of roentgen and radionuclide diagnostic examinations to AD category are pertained

A.
all listed

B.
patients with cancer=

C.
patients with precancerous condition

D.
patients which diagnosed in order of differential diagnostics of congenital cardiovascular pathology

E.
patients which examined in case of emergency (urgent) situation 

50.
Level of effective specific activity of natural radionuclides in brick doesn’t exceed 370 Bk*kg-1. What for this brick can be used?

A.
for all types of building without limitations=

B.
for industrial building

C.
for road building

D.
for dam building

E.
for building objects with short duration of stay

51.
Gamma-apparatuses “Agat” and other sealed source of ionizing radiation for malignant tumors treatment are used in radiological department. Which of listed measures must be used for personnel protection during working with such sources?

A.
increase distance to IR source and observance of personal hygiene rules

B.
systematic cleaning of surfaces from radiation pollution and work time reduction

C.
ventilation of premises

D.
using of shields and individual protection of respiratory organs

E.
using of shields and work time reduction=

52.
Woman (30 years old, 168 cm, 70 kg, accountant), live in city, was hospitalized in therapeutic department with primary diagnosis “Stomach ulcer”. For specification of diagnosis roentgenoscopy was prescribed. Choose the dose of roentgenoscopy IR which will not exceed annual limit level of IR for persons with not oncological diseases.

A.
less than 20 mZv (2 Ber)=

B.
less than 100 mZv (10 Ber)

C.
less than 1 mZv (0,1 Ber)

D.
less than 2 mZv (0,2 ber)

E.
less than 0,5 mZv (0,05 Ber)

53.
Man (35 years old, 175 cm, 77 kg) work at object with nuclear technology (engineer of radiation control service). He took part in liquidation of nuclear accident and received dose which equivalent 100 mZv (10 Ber). After this he was sent to hospital for examination. Determine percent of allowable dose limit for assessment of accident irradiation and prognosis its after-effects.

A.
100%=

B.
90%

C.
80%

D.
70%

E.
60%

54.
Man (28 years old, 175 cm, 74 kg) work at object with nuclear technology (foreman) after local nuclear accident received individual effective dose which corresponds to 2 limits of accident dose. He was sent to commission for determination a possibility to continue work with nuclear technology objects. Doctors said that man is practically health. Give the correct recommendation: man ……with IR sources.

A.
admits to work without limitations

B.
does not admit

C.
conditionally admits with dose limitation=

D.
conditionally admits with time limitation

E.
conditionally admits with limitation of work with open sources of IR

55.
Two men are workers of gamma-defectoscopy laboratory which serve building office in result of not established situation received irradiation with effective dose 40 mZv. They were sent to hospital for medical examination. Determine percentage of this dose of limit dose in case of usual exploitation of nuclear objects and in case of nuclear accident.

A.
200% and 80%=

B.
150% and 100%

C.
100% and 200%

D.
405 and 20%

E.
20% and 40%

56.
Man is worker of gamma-defectoscopy laboratory which serve building office in result of not established situation received irradiation with effective dose 40 mZv. He was sent to hospital for medical examination. Does received dose exceed dose limit or not.

A.
it doesn’t, dose was received during 4 hours

B.
it doesn’t, dose was received during a day

C.
it doesn’t=

D.
it doesn’t, dose was received during 12 hours

E.
it doesn’t, dose was received during 6 hours

57.
Building office asked radiological department of sanitary and epidemiological station to analyze bricks for a natural radionuclides content and conclusion about possibility of its usage. In results amount of total effective specific activity of natural radionuclides is 320 Bk/kg. Give correct conclusion.

A.
for industrial building

B.
for all types of building=

C.
for underground building

D.
for warehouses building

E.
for building of not living buildings outside city

58.
Norms of Radiation Safety in Ukraine (NRSU) regulates situations of human irradiation by IR sources in case of:

A.
every day exploitation of industrial IR sources

B.
medical practice

C.
nuclear accident

D.
all listed=

E.
irradiation by natural technologically intensified 

59.
Under conduction of roentgen and radionuclide diagnostic examinations to AD category are pertained

A.
all listed

B.
patients with cancer=

C.
patients with precancerous condition

D.
patients which diagnosed in order of differential diagnostics of congenital cardiovascular pathology

E.
patients which examined in case of emergency (urgent) situation 

60.
Level of effective specific activity of natural radionuclides in brick doesn’t exceed 370 Bk*kg-1. What for this brick can be used?

A.
for all types of building without limitations=

B.
for industrial building

C.
for road building

D.
for dam building

E.
for building objects with short duration of stay

Children and adolescent hygiene

1. On base of which criterium similar groups for study of physical development are form?
A.
* sex, ethnicity, age

B.
body weight

B. conditions of staying in educational establishment

C. chest girth

D. body length

2. Name the somatometric index
A.
thorax circumference
B. *body weight

C. blood pressure

D. voice mutation

E. muscules development

3. Name the aim of physical development study in children’s collectives?
A.
revealing children which ill friquently

B.
working out preventive measures

C.
physical training group determination for children

D.
determination of children’s tempering level

E.
*assessment of environmental factors influence to population health state of sertain regions

4. Name the physiometric index
A.
thorax circumference

B. *lung vital capacity
C. body weight
D. body length
E. form of lower extremities 

5. Give the definition of the “child’s physical development” concept
A.
*totality of morphological and functional features of the organism characterized its growth and development in a certain period of life

B. factors of expansion and development of organs and tissues 

C. degree of muscular development and its functional readiness in different periods

D. totality of actions directed to training the physically developed children

E. objective test of health and sanitary state assessment

6. What children are pertained to the third health group?
A.
they are ill frequently during long period of time

B. has weak myopia

C. children and adolescents suffering from chronic diseases in compensation stage
D. *children and adolescents with significantelly lowered funcional resources of organism.
E. children and adolescents suffering from chronic diseases in subcompensation stage 
7. Point the somatoscopic indices

A.
*form of spinal column 

B. lung vital capacity
C. body length
D. index of external respiration

E. thickness of belly fat folds

8. Biological age of a child has to be determined based on
A.
body weight

B. body length
C. thorax circuference
D. *number of permanent teeth
E. circumferences of head 
9. We use … as the main for assessment of the children and adolescents health state
A.
morbidity rate

B
pathological affection

B. *presence or absence of chronical diseases during examination
C. infectious morbidity

D. health index

10. Name the most complete method of children’s and adolescent’s health assessment

A.
determination of the chronological age

B. determination of the development regional standards

C. *assessment of physical development using complex method
D. assessment of physical development using regression scales
E. measurements of somatometric indices

11. Point the main criterion of complex assessment of the children and adolescents health state
B. *presence or absence of chronical diseases
C. puberty
D. state of mental stability
E. indices of morpho-functional development
F. child functional readiness to training at school
12. What children are pertained to the fourth health group?
B. they are ill frequently during long period of time

C. has weak myopia

D. children and adolescents suffering from chronic diseases in compensation stage
E. children and adolescents with significantelly lowered funcional resources of organism.
F. *children and adolescents suffering from chronic diseases in subcompensation stage 
13. First health group includes 
B. healthy children and adolescents who have functional and some morphological deviations after illness

C. *healthy children and adolescents with harmonious development
D. healthy children and adolescents who have low resistance to acute  diseases
E. healthy children and adolescents who are ill frequently during long period of time
F. children and adolescents who have rheumatism in inactive phase
14. What is the profile of physical development?
B. side projection of children’s body in vertical position

C. frontal projection of children’s body in vertical position
D. ratio of body length in sitting and standing position
E. ratio of body weight and thorax circumference
F. *graphic presentation of received sigmal deviation data of  main anthropometric indices
15. What children are ill frequently?
B. they are ill no less then 1 time during a month

C. *they were ill 4 times and more during the last year
D. they were ill no less the 3 times during the last quarter
E. they were ill no less then 5 times during the last year

F. they were ill no less then 6 times during the last year

16. Difference in physical development level of two children collectives are reliable if

B. difference of maximum values of sign less than 3 times

C. difference of maximum values of sign more than 5 times

D. *diferrence of normal values of sign in 3 and more times higher than maximal deviation

E. difference of maximum values of sign more than 2 times

F. diferrence of normal values of sign in 2 times higher than maximal deviation

17. Beginning of lessons must be not earlier than ... in general educational establishments
A.
8.30

B.
*8.00

C.
9.00

C.
7.30

D.
7.45

18. Cofficient P/x shows
B. maximal allowable variation of body weight

C. how will change body weight (y) if body length (x) will change on 1 cm

D. ratio between body weight and chest girth

E. correlative dependence chest girth and body weight

F. ratio between body length in standing and sitting position

19. Second health group includes 
A.
children which are ill 1-2 times a year

B. children with simple form of chronic tonsilitis

C. children and adolescents suffering from chronic diseases in compensation stage
D. *children during reconvalescence period
E. children with significant consequences of injury
20. Name the main criterium of health group determination

A.
puberty

B. presence or absence of chronic diseases*

C. phychical state
D. indeces of morpho-functional development
E. school maturity
21.
Antropometric and physiometric investigations are widely use for children’s physical development studying. Choose physiometryc method of investigation.

A.
form of spinal column determination

B.
body lenth measurement

C.
body weight measurement

D.
lung vital capacity determination=

E.
torax form determination

22.
Fourth class schoolboy has sharply disgarmonic physical development and chronic bronchitis in compensation stage. He has no acute diseases during the last year. To which health group this boy is pertained?

A.
2

B.
1

C.
3=

D.
4

E.
5

23.
Give assessment of physical development of 10 years old girl according regression scale if her body weight and chest girth are within ±1δR.

A.
low

B.
disgarmonious

C.
average

D.
garmonious=

E.
high

24.
Level of physical development of 10 years old girl is high (M+3δ), annual body length gain 10 cm (two times more than norm for her age), number of permanent teeth 20 (normal), development of secondary sex signs passed ahead of the age on 3 years. Passing ahead of biological age concerned with:

A.
type of nutrition

B.
acceleration

C.
endocrine disorders=

E.
physical training

D.
failures in hygienic education

25.
After deep medical examination children of 5-class were devided to health groups. To which group must be pertained children with morphological variations, functional deviations after diseases, those who ill frequently?

A.
4

B.
1

C.
3

D.
2=

E.
5

26.
Assessment of physical development of pre-school age girl shows: physical development is average, according body weight and chest girth – harmonious, biological age correspond to chronological. She has no chronic diseases. Fife times during last year she had acute respiratory diseases. To which health group is pertained this girl?

A.
4

B.
1

C.
3

D.
5

E.
2=

27.
Antropometric and physiometric investigations are widely use for children’s physical development studying. Choose physiometryc method of investigation.
A.
muscle strength of hands=
B.
form of spinal column determination

C.
body lenth measurement

D.
body weight measurement

E.
torax form determination

28.
Medical control of labour training shows: lessons in joiner's shop pass on Friday, fourth and fifeth lessons. It general duration is 90 min. Compactness of 1 lesson – 69%, 2 – 65%. Does the lesson correspond to hygienic norms?

A.
doesn’t correspond by motor compactness of first lesson

B.
doesn’t correspond by lesson duration

C.
corresponds=

D.
doesn’t correspond by motor compactness of second lesson

E.
it cann’t be paired

29.
Iin classroom of high school study 38 schoolchildren. Durin the last year 4 childen haven’t any diseases, 8 were sick ones, 11 – twice, 6 – 3 times, 5 – 4 times, 2 – 5 times, 1 – 6 times and 1 – 8 times. How many are children pertaind to goup of those who ill frequently during long period of time?

A.
9=

B.
15

C.
4

D.
2

E.
1

30.
During medical examination was determined correlation between chronological and biological age for all 7 class schoolchildren according folloving criteria: annual body length gain, hand bones ossification, number of permanent teeth, secondary sex signs development. Which of listed criteria is the most informative index of biological age?

A.
secondary sex signs development

B.
body length

C.
annual body length gain

D.
number of permanent teeth

E.
hand bones ossification=

31.
Morbidity analysis of schoolchildren of 7-10, 11-14 and 15-17 years old reveals that one class of diseases is widespread in all these age groups. Which one is it?

A.
gastrointestinal diseases

B.
injuries and poisonings

C.
respiratory diseases=

D.
skin diseases

E.
infection diseases

32.
During physical development studying of pre-school age children the next indeces were assess: body weight and lenth, chest, head and hip girth, thorax and vertebral column form. Which of them, except body weight and lenth, is the main index of physical development?

A.
thorax form

B.
head girth

C.
vertebral column form

D.
chest girth=

E.
hip girth

33.
Determine health group of schoolboy which suffer from reumocarditis in subcompensation stage.

A.
2

B.
4=

C.
5

D.
1

E.
3

34.
Assessment of 13 years old girl physical development according regression scale shows that her body weight –1,9δ less then body weight which corresponds to body length and chest girth -1 δ less then chest girth which corresponds to body length. Give assessment of her physical development.

A.
sharply disgarmonious (by body weight)

B.
harmonious

C.
disgarmonious (by chest girth)

D.
disgarmonious (by body weight)=

E.
sharply disgarmonious (by chest girth)

35.
Fur toys “Bear” are used in preschool institution. Its mass – 200 g, coloration is stable, toxic components are absent, odor – 3 p. Does this toy correspond to hygienic norms?

A.
No, it does not (by odor)

B.
Yes, it does

C.
No, it does not (by mass)

D.
No, it does not (by coloration stability)

E.
No, it does not (by material)=

36.
Seven years old boy has 122 cm body length (-0,5δ), 22,4 kg body weight (-0,8 δR), 62,1 cm chest girth (-0,5δR). Biological level of development corresponds to chronological age. Functional indeces within M±1 δ. How could you assess development of this child according complex method?

A.
low

B.
sharply disgarmonious

C.
proportional

D.
disgarmonious

E.
average, harmonious=

37.
After medical examination was revealed that one schoolboy has bronchial asthma. There are no symptoms of respiratory failure in calm state, attacks are brief, 1-2 times a year. To which group of physical training can be pertainea this boy?

A.
special group=

B.
main group

C.
preparatory group

D.
therapeutic physical training

E.
to forbid physical training

38.
Indeces of biological development of secondary scool children are: body length, annual body length gain, hand bones ossification, number of permanent teeth. Which signs of physical development are important for children of such age?

A.
body weight

B.
secondary signs of sex development=

C.
chest girth

D.
vital lung capacity

E.
muscles strength

39.
In the aim of tempering level increasindg scooldoctor had create program, based on next principles: consecution, personality and complexity. Which principle of tempering was missed by doctor?

A.
increasing of resistence

B.
increasing of firmness

C.
grafting of influence power

D.
grafting of influence intensity

E.
systematic character=

40.
It was planned to build secondary scool in city M. Which of building systems is the most optimal for children educational establishments?

A. compact

B. centralized

C. pavilion

D. decentralized

E. blok=

41.
Assessment of microclimate conditions was conducted in classroom of 5 class. Such results were received: temperature in classroom - 24ºC, radiant temperature - 21ºC, air movement speed – 0,1 m/sec, relative humidity – 65%. Give hygienic assessment of microclimate.

A.
discomfortable, hot=

B.
comfortable

C.
discomfortable with low air movement speed

D.
discomfortable with low radiant temperature

E.
discomfortable, cold

42.
After current sanitary inspection conduction in classroom of third class was revealed that marking of desks is abcent, there are desks of just one size in the classroom. Inconsistency between desks’ size and cildren’s body length could cause:

A.
violation of bearing=

B.
phycoemotional load

C.
attentiveness decreasing

D.
muscles assimetry

E.
traumatism

43.
Assessment of microclimate conditions was conducted in classroom of 6th class in winter period. Such results were received: temperature in classroom - 18ºC, radiant temperature - 15ºC, air movement speed – 0,3 m/sec, relative humidity – 50%. Give hygienic assessment of microclimate.

A.
discomfortable, hot

B.
comfortable

C.
discomfortable with low air movement speed

D.
discomfortable with low radiant temperature

E.
discomfortable, cold=

44.
You need to assess effectiveness of ventilation in the chemistry classroom. Name indeces which you will use for doing this task.

A.
actual and required ventilation rate=

B.
ventilation volume anr rate

C.
ventilation system

D.
volume of room

E.
CO2 concentration

45.
Building of school is planned in city N. After expert examination of school project was noticed that maximum number of storeys is

A.
6

B.
2

C.
4-5

D.
3=

E.
1

46.
Desks and tables were brought to schools for primary classes maintainance. Name the main index used for hygienic evaluation of children furniture.

A.
Modern design matching

B. Correspondence between the size of children’s and school furniture and the body length=
C. Distance from front edge of the desk to the chair hack

D. Body position using furniture

E. Desk and chair linked into one unit or not
47.
Hygienic assessment of ventilation effectiveness was conducted in classroom of 7th class. Which of indeces was took into account for calculation of required ventilation rate in classroom?

A.
ventilation volume anr rate

B.
ventilation system

C.
volume of room=
D.
time of lessons duration

E.
window orientation

48.
Classroom for 8th class has area 50 m2 and three windows. There are no shadding objects outside the window. Point out the indicex which has to be taking into account for desk lines planning.

A. lighting coefficient

B. angle of incidence

C. angle of aperture

D. depth coefficient=

E. evenness

49.
Hygienic assessment of natural lightining in classroom was conducted. Give your recommendations about hygienic reguirements for natural lightening in classroom.

A.
daylight must be factor not less than 1,5%=

B.
brightness must be no more than 2000 kd/m2

C.
eveness 1:2

D.
lighting coefficient not less than 1;10

E.
angle of incidence not less than 50º

50.
There are 6 lights of direct light fixture with incandescent lamps (capacity each of them 150 Wt) in classroom (6*10 m). Level of illumination on working places 30-70 lux. Give hygienic assessment of artificial illumination of classroom.

A.
uneven and insufficient=

B.
even: insufficient illumination of working places

C.
uneven and sufficient

D.
insufficient illumination of working places

E.
sufficient illumination of working places

51.
There are 8 lights of direct light fixture with luminescent lamps (capacity each of them 40 Wt) in classroom (5*10 m). Level of illumination on working places 50-70 lux. Give hygienic assessment of artificial illumination of classroom.

A.
uneven and insufficient: insufficient illumination of working places

B.
uneven and sufficient: sufficient illumination of working places

C.
even and sufficient: sufficient illumination of working places

D.
even and sufficient: insufficient illumination of working places

E.
even and insufficient: insufficient illumination of working places=

52.
Assessment of microclimate in classroom of 1st gymnasium class was conducted. Next results were received: air temperature – 20ºC, radiant temperature - 19 ºC, air movement speed – 0,2 m/sec, relative humidity – 50%. Give hygienic evaluation of this microclimate.

A.
comfortable=

B.
uncomfortable, hot

C.
uncomfortable with decreased relative humidity

D.
uncomfortable with increased air movement speed

E.
uncomfortable, cold

53.
In classroom of primary school which was built according typical project was revealed that microclimate and artificial illumination corresponds to hygienic requirements, but level of natural lightening is lees than norm. Which of indices modification influence to level of natural lightening?

A.
coefficient of aeration

B.
specific capacity of electric light

C.
daylight factor=

D.
depth coefficient

E.
angle of incidence

54.
Medical control of labor training of 6th class schoolchildren show: lessons in joiner's shop are passed on Friday, 4th and 5th lesson, of total duration – 90 min, compactness of 1st lesson – 69%, 2nd – 65%. Does this lesson correspond to hygienic requirements?

A.
no, it does not (according lesson duration)

B.
yes, it does=

C.
no, it does not (according compactness of 1st lesson)

D.
no, it does not (according compactness of 2nd lesson)

E.
no, it does not (according coupling)

55.
Fur toys “Bear” are used for playing in preschool educational establishment. Their mass – 200g, coloration of material is stable, toxic components are absent, odor – 3 points. Do these toys correspond to hygienic requirements?

A.
yes, they do

B.
no, they don’t (by mass)

C.
no, they don’t (by coloration stability)

D.
no, they don’t (by material)=

E.
no, they don’t (by odor)

56.
There are 8 lights of direct light fixture with incandescent lamps (capacity each of them 100 Wt) in classroom (5*10 m). Level of illumination on working places 30-80 lux. Give hygienic assessment of artificial illumination of classroom.

A.
uneven and insufficient: insufficient illumination of working places=

B.
uneven and sufficient: sufficient illumination of working places

C.
even and sufficient: sufficient illumination of working places

D.
even and sufficient: insufficient illumination of working places

E.
even and insufficient: insufficient illumination of working places

57.
After examination of staying conditions were received next results: CO2 concentration in air – 0,2 %, lighting coefficient – 1:5, temperature - 20ºC, relative humidity – 55%, general illumination with incandescent lamps – 200 lux. What functional or pathological deviations could appear in such conditions?

A.
flu

B.
decreasing of work ability, headache=

C.
visual impairment

D.
scoliosis

E.
vegetoasthenic syndrome

58.
In order of schoolchildren’s bearing violation teacher have to change their seat not seldom than 

A.
3times a year=

B.
2 times a year

C.
4 times a year

D.
6 times a year

E.
it is not necessary

59.
Assessment of microclimate classroom of primary school was conducted by nurse. Next results were received: air temperature – 20ºC, air movement speed – 0,3 m/sec, relative humidity – 50%. Give hygienic evaluation of this microclimate.

A.
comfortable=

B.
uncomfortable, hot

C.
uncomfortable with decreased relative humidity

D.
uncomfortable with increased air movement speed

E.
uncomfortable, cold

Labour hygiene
Test #1

1.
There was revealed exceed level of manganese in atmosphere air, drinking water and food products of agricultural origin. Which will be effect of these factors to human organism?

A.
joint

B.
combined

C.
complex

D.
synergic

E.
separate

2.
Surface grinding with usage of high-tension current is used in tool workshop. Work conditions are characterized by exceeding of noise limit levels, EMF, dust with iron, molybdenum and silicon dioxide. After examination of workers instrumentally dystonia, neurasthenia, endocrine disorders were diagnosed. Etiological factor of these disorders is

A.
iron dust

B.
noise

C.
EMF

D.
molybdenum dust

E.
silicon dioxide

3.
Battery attendant suddenly felt weakness, loss of appetite, colicky cramping pains in abdomen without localization, nausea. Objectively: skin is grey coloured, there is grey-violet line on gums; abdomen is sleek, sharply painful. Hematology: erythrocytes with basophilic grains, anemia. He transmit stomach ulcer last year. Sometimes he have 3-4 days hard drinking. Your primary diagnose is 

A.
acute appendicitis

B.
saturnism (poisoning with lead)

C.
stomach ulcer perforation

D.
acute cholecystitis

E.
chronic alcoholism

4.
Fishery workers work under low temperature conditions – from -5ºC to -15 ºC. Diseases of which organs and systems will have such workers?

A.
liver

B.
cardiovascular system

C.
blood

D.
respiratory system

E.
gastro-intestinal tract 

5.
Refrigeratory workshop’s workers work under low temperature conditions– from -5ºC to -15 ºC. Which of listed alterations in worker’s organism will be most typical and prominent?

A.
muscles and skin vasoconstriction

B.
increasing of oxygen utilization

C.
tachypnea

D.
systolic blood volume deviations

E.
minute blood volume deviations

6.
On railway station, where carriage relieves of pitch by hand, after physiological and hygienic examination of loader’s work character was revealed that their work pertained to III degree of hardness. According which of listed criteria this assessment was conducted?

A.
maximum load which are transferred

B.
level of static load per shift

C.
ratio between time of active action to shift duration, in %

D.
ratio between time of passive watching to shift duration, in %

E.
intellectual load

7.
After periodic medical examination of machine fitter (he solders details) was revealed that he has no complaints. After deep medical examination was revealed asthenovegetative syndrome, hematology – basophilic grains in erythrocytes and exceed level of retyculocytes, in urine – decreased level of aminolevulinic acid. What professional poisoning is indicated by such complex of symptoms?

A.
ethanol

B.
manganese

C.
mercury

D.
tin

E.
lead

8.
Lathe operator of rotor-type workbench is exposed by exceed level of noise in mechanic workshop. Perceptive deafness will appear after 6-8 years of work in such conditions. Name the most important preventive measures directed to non-admission of perceptive deafness.

A.
planning measures

B.
technological measures

C.
technical measures

D.
individual protection measures

E.
medical prevention measures

9.
Maximum decreasing of dust content in zone of worker’s breathing is the most effective method of pneumoconiosis prevention for workers which work under fibrogeneus action of dust. It can be achieved by:

A.
ventilation of working premises during working day

B.
mixed polluted air with clear

C.
partition between equipment which produces dust

D.
remote control of technological process

E.
irrigation of air with water

10.
Patient 38-years old complain of pain and compression in chest, breathlessness after physical exercises, dry cough. Objectively: marginal emphysema of lungs, bronchitis, functional respiratory and cardiovascular insufficiency. Which stage of silicosis do this complaints and symptoms characterize?

A.
recovery period

B.
II stage

C.
II stage

D.
incubation period

E.
I stage

11.
Repair work in enclosed car box is conducted under turned off motor. After 30-40 min repair men start to complain about headache, buzzing in the ears, nausea, vomiting. Which acute professional poisoning is characterized by these symptoms?

A.
carbon dioxide

B.
gas vapors

C.
lead

D.
nitrogen oxide

E.
oil aerosol

12.
Blowing shop worker complains about headache, sicken, loss of sight. Objectively: sclera hyperemia, cornea thickening, , decreasing of pupil transparency, visual acuity of right eye – 0,8, left – 0,9. Worker doesn’t use individual protectors. His diagnose is..

A.
cataract

B.
conjunctivitis

C.
ceratitis

D.
blepharospasm

E.
progressive myopia

13.
Dust concentration in air of working zone (coke processing) exceeds MAC in 4-8 times during a long time. What disease will have workers of this plant?

A.
siderosis

B.
acanthosis 

C.
byssinosis (cotton fever)

D.
silicosis

E.
asbestosis

14.
Auto cameras supplier work upright with inclinations to angle more than 32ºC more than 300 times a day. He watches simultaneously for 5 objects. Duration of work operations 3-4 sec. Active actions – 87% of shift. Name the signs of work monotony.

A.
% of active actions

B.
number of inclinations

C.
work operations duration

D.
number of watching objects

E.
inclination of body

15.
Workers work in premises with high dust content. Physical and chemical properties of dust aerosols mean for professional dust disease appearance. Name the main physical property of dust for pneumoconiosis appearance.

A.
ionization

B.
magnetization

C.
electric charge

D.
solubility

E.
dispersion

16.
Electromagnetic waves cause functional disorders of some systems in human organism. Which systems are the most susceptible to radio waves?

A.
cardiovascular system and water-salt metabolism

B.
gastro-intestinal and respiratory systems

C.
cardiovascular and respiratory systems

D.
cardiovascular and nervous systems

E.
gastro-intestinal and nervous systems

17.
39-years old man complains about ache and numbness in hands and antebrachium, decreasing of hand muscles strength, insomnia, petulance and hearing impairment. Professional anamnesis: he works borer 12 years using drill with mass 20 kg. objectively: hands skin is cyanotic, edema of finger-tips, flatness of skin pattern, slight deformation of digital joints, decreasing of touch sensitivity, pain sensitivity and temperature sensitivity. Your diagnosis is …? 

A.
vibratory disease caused by general vibration

B.
vibratory disease caused by local vibration

C.
Raynaud's disease

D.
neurocirculatory dystonia

E.
rheumatoid polyarthritis

18.
Under purifying work in mine was revealed that dust content in the air of working zone is 450 mg/m3 (MAC – 10 mg/m3). Which disease could have workers of purifying hollow?

A.
anthracosis

B.
allergic rhinitis

C.
byssinosis

D.
siderosis

E.
talc pneumoconiosis

19.
Different measures are used in industrial enterprises for dust retention and gas moving off. But their effectiveness often is insufficient. In what base periodicity of air of working zone control is established?

A.
technology of manufacturing process

B.
state of dust retention and gas moving off systems

C.
dust forming mechanism 

D.
class of dangerous of chemical compounds which formed

E.
dust and chemical substances concentration in air

20.
Morbidity level of rhinitis, vasorhinitis, pharyngitis and dermatitis increased in industrial enterprise which produces synthetic detergents. Detergents’ dust is present in air of working zone. Doctors think that increasing of morbidity level caused by dust. Which peculiarities of dust influence are base of pathogenesis? 

A.
allergic effect

B.
general toxic effect

C.
fibrogenic effect

D.
carcinogenic effect

E.
mutagenic effect

21.
Audiometric investigation of worker’s hearing revealed that temporary threshold of audibility (both ears) decreased to9 5 dBA at the end of shift. How can you assess such deviation of worker’s auditory analyzer?

A.
deafness

B.
fatigue

C.
overfatigue

D.
adaptation

E.
tiredness

22.
Under production conditions high levels of noise and air pollution with sulfur anhydride of working zone are revealed. What harmful effect of such factors will be?

A.
combined

B.
separate

C.
joint

D.
complex

E.
specific

23.
Women work in electroplating shop. They move finished details by hand two times in hour. How many times can women raise and move details according norms of Public Health Ministry of Ukraine?

A.
15 kg

B.
20 kg

C.
10 kg

D.
7 kg

E.
5 kg

24.
There is aerosol of condensation in air of founder’s work zone with dust particles’ size 2 nm (90%), 2-5 nm (2%), more than 5 nm (6%), less than 2 nm (2%). Give characteristic of dust dispersity.

A.
fine-dyspersated

B.
medium dyspersated

C.
large dyspersated

D.
ultra fine-dyspersated

E.
fog

25.
Noise level near working place is 121 dBA. Which effect will cause such noise level?

A.
irritant

B.
acoustic trauma

C.
hearing loss

D.
quick course of diseases

E.
increasing of industrial injuries

26.
Worker of filling station (works 15 years) has a contact with doped fuel. He complains of decreasing of memory, bradycardia, feeling of hair in mouth, skin paresthesia. What poisoning could has this worker?

A.
lead

B.
lead chloride

C.
organophosphorous compounds

D.
benzol

E.
nitrobenzene

27.
Group of doctors-specialists is formed on factory which produces red lead for carrying out periodic medical examination. What doctor must be obligatory in this group?

A.
dermatologist

B.
gynaecologist

C.
psychiatrist

D.
neuropathologist

E.
otolaryngologist

28.
Shop doctor revealed workers, which work during a lot time in blast-furnace shop, with primary cataract. What factor could cause it?

A.
high level of noise

B.
infrared radiation

C.
high level of vibration

D.
ultraviolet radiation

E.
optic (visible) radiation

29.
Working place of proof-reader has desk and arm-chair with chair-bottom’s and chair hack’s parameters which can be changed. Duration of work day is 8 hours. Level of work day commitment is 96%. What pathology (disorder) can has this proof-reader?

A.
ischemic heart disease

B.
osteochondrosis

C.
coordination neurosis

D.
varicose veins

E.
myopia

30.
Bronchial asthma is a prevalent disease of engineering industry workers. What chemical compound can cause it?

A.
colophony

B.
hydrochloric acid

C.
ferric oxides

D.
nitrogen oxides

E.
silicon dioxide

31.
There is exceeding level of manganese in atmosphere air, drinking water and agricultural origin food products of city N. What effect will has this factor to human health?

A.
joint

B.
combined

C.
complex

D.
synergic

E.
separate

32.
In toolroom workers grind details using r f current. Working conditions characterized by exceeding of MAC levels of noise, EMF, dust content (which contains iron, molybdenum, silicon dioxide. After examination of tool man was revealed that he has vegetoasthenic syndrome, neurasthenia, endocrine regulation disorder. Etiological factor is….

A.
dust with iron

B.
noise

C.
EMF

D.
dust with molybdenum

E.
silicon dioxide

33.
Battery attendant suddenly felt weakness, loss of appetite, colicky cramping pains in abdomen without localization, nausea. Objectively: skin is grey coloured, there is grey-violet line on gums; abdomen is sleek, sharply painful. Hematology: erythrocytes with basophilic grains, anemia. He transmit stomach ulcer last year. Sometimes he have 3-4 days hard drinking. Your primary diagnose is 

A.
acute appendicitis

B.
saturnism (poisoning with lead)

C.
stomach ulcer perforation

D.
acute cholecystitis

E.
chronic alcoholism

34.
Fishery workers work under low temperature conditions – from -5ºC to -15 ºC. Diseases of which organs and systems will have such workers?

A.
liver

B.
cardiovascular system

C.
blood

D.
respiratory system

E.
gastro-intestinal tract 

35.
Refrigeratory workshop’s workers work under low temperature conditions– from -5ºC to -15 ºC. Which of listed alterations in worker’s organism will be most typical and prominent?

A.
muscles and skin vasoconstriction

B.
increasing of oxygen utilization

C.
tachypnea

D.
systolic blood volume deviations

E.
minute blood volume deviations

36.
On railway station, where carriage relieves of pitch by hand, after physiological and hygienic examination of loader’s work character was revealed that their work pertained to III degree of hardness. According which of listed criteria this assessment was conducted?

A.
maximum load which are transferred

B.
level of static load per shift

C.
ratio between time of active action to shift duration, in %

D.
ratio between time of passive watching to shift duration, in %

E.
intellectual load

37.
After periodic medical examination of machine fitter (he solders details) was revealed that he has no complaints. After deep medical examination was revealed asthenovegetative syndrome, hematology – basophilic grains in erythrocytes and exceed level of retyculocytes, in urine – decreased level of aminolevulinic acid. What professional poisoning is indicated by such complex of symptoms?

A.
ethanol

B.
manganese

C.
mercury

D.
tin

E.
lead

38.
Lathe operator of rotor-type workbench is exposed by exceed level of noise in mechanic workshop. Perceptive deafness will appear after 6-8 years of work in such conditions. Name the most important preventive measures directed to non-admission of perceptive deafness.

A.
planning measures

B.
technological measures

C.
technical measures

D.
individual protection measures

E.
medical prevention measures

39.
Maximum decreasing of dust content in zone of worker’s breathing is the most effective method of pneumoconiosis prevention for workers which work under fibrogeneus action of dust. It can be achieved by:

A.
ventilation of working premises during working day

B.
mixed polluted air with clear

C.
partition between equipment which produces dust

D.
remote control of technological process

E.
irrigation of air with water

40.
Patient 38-years old complain of pain and compression in chest, breathlessness after physical exercises, dry cough. Objectively: marginal emphysema of lungs, bronchitis, functional respiratory and cardiovascular insufficiency. Which stage of silicosis do this complaints and symptoms characterize?

A.
recovery period

B.
II stage

C.
II stage

D.
incubation period

E.
I stage

41.
There was revealed exceed level of manganese in atmosphere air, drinking water and food products of agricultural origin. Which will be effect of these factors to human organism?

A.
joint

B.
combined

C.
complex

D.
synergic

E.
separate

42.
Surface grinding with usage of high-tension current is used in tool workshop. Work conditions are characterized by exceeding of noise limit levels, EMF, dust with iron, molybdenum and silicon dioxide. After examination of workers instrumentally dystonia, neurasthenia, endocrine disorders were diagnosed. Etiological factor of these disorders is

A.
iron dust

B.
noise

C.
EMF

D.
molybdenum dust

E.
silicon dioxide

43.
Battery attendant suddenly felt weakness, loss of appetite, colicky cramping pains in abdomen without localization, nausea. Objectively: skin is grey coloured, there is grey-violet line on gums; abdomen is sleek, sharply painful. Hematology: erythrocytes with basophilic grains, anemia. He transmit stomach ulcer last year. Sometimes he have 3-4 days hard drinking. Your primary diagnose is 

A.
acute appendicitis

B.
saturnism (poisoning with lead)

C.
stomach ulcer perforation

D.
acute cholecystitis

E.
chronic alcoholism

44.
Fishery workers work under low temperature conditions – from -5ºC to -15 ºC. Diseases of which organs and systems will have such workers?

A.
liver

B.
cardiovascular system

C.
blood

D.
respiratory system

E.
gastro-intestinal tract 

45.
Refrigeratory workshop’s workers work under low temperature conditions– from -5ºC to -15 ºC. Which of listed alterations in worker’s organism will be most typical and prominent?

A.
muscles and skin vasoconstriction

B.
increasing of oxygen utilization

C.
tachypnea

D.
systolic blood volume deviations

E.
minute blood volume deviations

46.
On railway station, where carriage relieves of pitch by hand, after physiological and hygienic examination of loader’s work character was revealed that their work pertained to III degree of hardness. According which of listed criteria this assessment was conducted?

A.
maximum load which are transferred

B.
level of static load per shift

C.
ratio between time of active action to shift duration, in %

D.
ratio between time of passive watching to shift duration, in %

E.
intellectual load

47.
After periodic medical examination of machine fitter (he solders details) was revealed that he has no complaints. After deep medical examination was revealed asthenovegetative syndrome, hematology – basophilic grains in erythrocytes and exceed level of retyculocytes, in urine – decreased level of aminolevulinic acid. What professional poisoning is indicated by such complex of symptoms?

A.
ethanol

B.
manganese

C.
mercury

D.
tin

E.
lead

48.
Lathe operator of rotor-type workbench is exposed by exceed level of noise in mechanic workshop. Perceptive deafness will appear after 6-8 years of work in such conditions. Name the most important preventive measures directed to non-admission of perceptive deafness.

A.
planning measures

B.
technological measures

C.
technical measures

D.
individual protection measures

E.
medical prevention measures

49.
Maximum decreasing of dust content in zone of worker’s breathing is the most effective method of pneumoconiosis prevention for workers which work under fibrogeneus action of dust. It can be achieved by:

A.
ventilation of working premises during working day

B.
mixed polluted air with clear

C.
partition between equipment which produces dust

D.
remote control of technological process

E.
irrigation of air with water

50.
Patient 38-years old complain of pain and compression in chest, breathlessness after physical exercises, dry cough. Objectively: marginal emphysema of lungs, bronchitis, functional respiratory and cardiovascular insufficiency. Which stage of silicosis do this complaints and symptoms characterize?

A.
recovery period

B.
II stage

C.
II stage

D.
incubation period

E.
I stage

51.
Repair work in enclosed car box is conducted under turned off motor. After 30-40 min repair men start to complain about headache, buzzing in the ears, nausea, vomiting. Which acute professional poisoning is characterized by these symptoms?

A.
carbon dioxide

B.
gas vapors

C.
lead

D.
nitrogen oxide

E.
oil aerosol

52.
Blowing shop worker complains about headache, sicken, loss of sight. Objectively: sclera hyperemia, cornea thickening, , decreasing of pupil transparency, visual acuity of right eye – 0,8, left – 0,9. Worker doesn’t use individual protectors. His diagnose is..

A.
cataract

B.
conjunctivitis

C.
ceratitis

D.
blepharospasm

E.
progressive myopia

53.
Dust concentration in air of working zone (coke processing) exceeds MAC in 4-8 times during a long time. What disease will have workers of this plant?

A.
siderosis

B.
acanthosis 

C.
byssinosis (cotton fever)

D.
silicosis

E.
asbestosis

54.
Auto cameras supplier work upright with inclinations to angle more than 32ºC more than 300 times a day. He watches simultaneously for 5 objects. Duration of work operations 3-4 sec. Active actions – 87% of shift. Name the signs of work monotony.

A.
% of active actions

B.
number of inclinations

C.
work operations duration

D.
number of watching objects

E.
inclination of body

55.
Workers work in premises with high dust content. Physical and chemical properties of dust aerosols mean for professional dust disease appearance. Name the main physical property of dust for pneumoconiosis appearance.

A.
ionization

B.
magnetization

C.
electric charge

D.
solubility

E.
dispersion

56.
Electromagnetic waves cause functional disorders of some systems in human organism. Which systems are the most susceptible to radio waves?

A.
cardiovascular system and water-salt metabolism

B.
gastro-intestinal and respiratory systems

C.
cardiovascular and respiratory systems

D.
cardiovascular and nervous systems

E.
gastro-intestinal and nervous systems

57.
39-years old man complains about ache and numbness in hands and antebrachium, decreasing of hand muscles strength, insomnia, petulance and hearing impairment. Professional anamnesis: he works borer 12 years using drill with mass 20 kg. objectively: hands skin is cyanotic, edema of finger-tips, flatness of skin pattern, slight deformation of digital joints, decreasing of touch sensitivity, pain sensitivity and temperature sensitivity. Your diagnosis is …? 

A.
vibratory disease caused by general vibration

B.
vibratory disease caused by local vibration

C.
Raynaud's disease

D.
neurocirculatory dystonia

E.
rheumatoid polyarthritis

58.
Under purifying work in mine was revealed that dust content in the air of working zone is 450 mg/m3 (MAC – 10 mg/m3). Which disease could have workers of purifying hollow?

A.
anthracosis

B.
allergic rhinitis

C.
byssinosis

D.
siderosis

E.
talc pneumoconiosis

59.
Different measures are used in industrial enterprises for dust retention and gas moving off. But their effectiveness often is insufficient. In what base periodicity of air of working zone control is established?

A.
technology of manufacturing process

B.
state of dust retention and gas moving off systems

C.
dust forming mechanism 

D.
class of dangerous of chemical compounds which formed

E.
dust and chemical substances concentration in air

60.
Morbidity level of rhinitis, vasorhinitis, pharyngitis and dermatitis increased in industrial enterprise which produces synthetic detergents. Detergents’ dust is present in air of working zone. Doctors think that increasing of morbidity level caused by dust. Which peculiarities of dust influence are base of pathogenesis? 

A.
allergic effect

B.
general toxic effect

C.
fibrogenic effect

D.
carcinogenic effect

E.
mutagenic effect

Municipal hygiene

1.
Name the routine air sampling method for chemical analysis

A. photometric

B. chromatography

C. gravimetric

D. aspiration=

E. chemical

2. Natural water is…

A. Chemical compound of H2O in different aggregative state with different molecular mass

B. Complex dispersion, dispersion medium of which is the chemical compound of H2O and disperse phase are the gases, mineral and organic substances, microorganisms=

C. Underground water with optimally balanced micro- and macroelements composition

D. Chemical compound of H2O with neutral charge

E. Essential matter

3. Water sample should be accompanied with… for chemical analysis

A. source certificate

B. passport copy of a person carried out the sampling 

C. degree certificate of a person carried out the sampling 

D. medical certificate of a person carried out the sampling 

E. covering letter=

4. Fluorosis can arise from long term consumption of water with … content of fluorine in it.

A. less then 0,1 mg/l

B. 0.5 mg/l

C. 1 mg/l

D. more then 1.5 mg/l=

E. 0.7 mg/l

5. The total microbial number…

A. is the minimal volume of analyzed water in ml, in which one bacterium of colibacillus group is detected

B. is amount of bacteria of colibacillus group in 1 litre of water
C. is a number of colonies, which have grown when sowing 1 ml of water on 1.5 % beef-extract agar after incubation during 24 hours at temperature equal to 37 С=
D. is the minimal volume of analyzed water in ml, in which one bacterium of enterobacter group is detected
E. All listed below
6. According to WHO the pollutants of soil are (define the most correct answer):
A.
Chemical substances which meets in wrong place, in wrong time and wrong quantity

B.
Biological organisms which meets in wrong place, in wrong time and wrong quantity

C.
Biological organisms and products of their life activity which meets in wrong place, in wrong time and wrong quantity

D.
Chemical substances, biological organisms and products of their life activity which meets in wrong place, in wrong time and wrong quantity=

E.
Chemical and biological pollutants which may cause health disorders or diseases if direct contact of the person with soil will appear

7. A number of microorganisms in one gram of soil that grew up on 1.5% beef-extract agar at temperature 370С during 24 hours is defined as:
А.
Soil anaerobe titer

B.
Sanitary number of Khlebnikoff
C.
Soil coli-titer

D.
Soil microbial number=

E.
Index of thermophile bacteria

8. Physiological daily needs for water in moderate climatic zone are…(l/day)

A. 2

B. 2,5

C. 3=

D. 3,5

E. 4

9. Water sample for carrying out the bacteriological analysis should be no less then…(l)
A. 0,25

B. 0,5=
C. 1,0
D. 1,5
E. 3

10. The organoleptic properties of water are all listed below, exept…

A. odour

B. fluorine concentration=

C. aftertaste

D. colour

E. transparency

11. Water sample for carrying out the complete sanitary-chemical analysis should be no less then…(l)
A. 1

B. 1,5

C. 2

D. 2,5

E. 3=

12. Khlebnikoff’s sanitary number is:

A.
The ratio of humus nitrogen to general organic nitrogen=

B.
The ratio of ammonium nitrogen to nitrite nitrogen

C.
The ratio of nitrate nitrogen to nitrite nitrogen

D.
The ratio of humus nitrogen to ammonium nitrogen

E.
The ratio of ammonium nitrogen to nitrate nitrogen

13. The optimal system of sewage disposal in condition of canalized populated area is:

А.
Pick-up system
B.
Flushing system=
C.
Combined system
D.
Composite system

E.
Complex system

14. … are the surface water sources 

A. Seas, artificial open water reservoirs, perched waters

B. Rivers, lakes, coastside infiltration waters

C. Rivers, lakes, marshes, atmospheric precipitates

D. Rivers, lakes, artificial open water reservoirs, ponds, channels=
E. Rivers, artificial open water reservoirs, ponds, middle waters
15. Water sample should be taken into … laboratory glassware for carrying out the chemical analysis

A. sterile

B. toxicologically pure
C. radiationally pure
D. chemically pure  (preliminary rinsed with water to be sampled)=
E. helminthologically pure
16. High water hardness is a result of presence of… in water

A. chlorides

B. sulphates

C. calcium and magnesium salts=

D. nitrates

E. phosphates

17. What infectious disease isn’t typical of faecal-oral pathway by water?

A. amebic dysentery

B. typhoid fever

C. rabbit-fever

D. trachoma=

E. girardiasis

18. What layer of soil has the main hygienic significance?

А.
Layer of soil which takes part in ground water forming (Gophman zones)

B.
The first waterproof layer

C.
Surface layer (arable)=

D.
The second waterproof layer

E.
The first & second waterproof layer

19. The group of soil self-purification sanitary indices consists of:
А.
Soil coli-titer and index
B.
Soil microbial number

C.
Soil anaerobe titer
D.
Sanitary number of Khlebnikoff
E.
Titer and index of thermophile bacteria=

20. The coli titre…

A. is the minimal volume of analyzed water in ml, in which one bacterium of colibacillus group is detected

B. is amount of bacteria of colibacillus group in 1 litre of water
C. is a number of colonies, which have grown when sowing 1 ml of water on 1.5 % beef-extract agar after incubation during 24 hours at temperature equal to 37 С
D. is the minimal volume of analyzed water in ml, in which one bacterium of enterobacter group is detected=
E. All listed below
21. Indicate the oxygen concentration in atmospheric air

A.
21.8-22.3%

B.
16.0-17.0%

C.
15.4-16.0%

D.
20.7-20.9%=

E. 15.4-16.0%

22. Name the routine air sampling method for chemical analysis

A.
Aphotometric

B.
chromatography

C. gravimetric

D. aspiration=

E. chemical

23. Give the right definition of “vibration” concept.

A. rhythmic oscillation of solid bodies of different frequency and intensity=

B. chaotic oscillation of mediums of different frequency and intensity

C. rhythmic oscillation of mediums of permanent frequency and intensity

D. rhythmic oscillation of mediums of permanent power and different frequency

E. all types of oscillations

24. According to direction of mechanism of action vibration can’t be…

A. up

B. circular=

C. down

D. onward-backward

E. lateral

25. Give the definition of the “dust” concept.

A. Aerodispersal system in which the drops of water are the dispersal phase

B. Dispersal system with air as a dispersal medium and solid particles as a dispersal phase=

C. Dispersal system with mineral substances as a dispersal medium and organic substances as a dispersal phase

D. Dispersal system with water as a dispersal medium and mineral substances as a dispersal phase

E. Dispersal system with mineral substances as a dispersal medium

26. Point out the dust causing the toxic effect on organism.

A. manganese containing=

B. mineral

C. plant

D. siliceous

E. plastic

27. Indicate the level of CO2 in inhaled air.

A. 0.03-0.04%=

B. 3.4-4.7%

C. 0.3-0.7%

D. 0.1-0.2%

E. 0.01.0.02%

28. The worker of aerospace plant works during 6 years. Level of local vibration at working place is 82 dBA. What type of individual security facilities is recommended for usage in certain working conditions?

A. earplug

B. hum-eliminating filter

C. gauntlets=

D. shock-absorber

E. respirator

29. The volume of sound is expressed in …

A. watt

B. decibel

C. son

D. hertz

E. phon=

30. Point out the dust types by origin.

A. organic, inorganic, microbiological, mixed=

B. visible, invisible

C. aerosols, aerosuspensions

D. disintegration and condensation aerosols
E. proper dust, cloud, fog
31. Name the method of dust content determination.

A. chromatography

B. Organoleptic

C. Bacteriological

D. CO2 determination

E. SiO2 determination=

32.
Name the chemical compound used as a sanitary index of indoor air purity

F. ammonia

G. nitric oxide

H. carbon dioxide=

I. hydrogen sulphide

J. carbon oxide

33.
Name the most typical symptom of the acute carbon monoxide poisoning.

A. sluggishness

B. decreased blood pressure

C. asthenovegetative syndrome

D. extremities muscles paralysis

E. tachypnoe and deep breathing =

34.
Level of noise is standardized in…

A. watt

B. decibel=

C. joule

D. hertz

E. erg-second

35.
Level of vibration is standardized in…

A. watt

B. decibel=

C. joule

D. hertz

E. erg-second

36.
The size of large dispersible particles is… μm

A. more then 100 

B. 10-0,1

C. 100-10=

D. less then 0,1

E. more then 1000

37.
At what point of working area the air sampling for dust content determination should be performed?

A. near the ventilating aperture

B. near the windows

C. at the place of food intake

D. at the working place in and around of breathing zone=

E. evenly spaced 

38.
It is diagnosed the cochlear neuritis during medical examination of Aviant plant machine-shop worker with 10 years standing. What device can help to investigate evenly the degree of noise influence on human organism? 

F. vibration sensation measuring device

G. low-frequency vibration-survey device

H. noise and vibration dosimeter

I. audiometer=

J. audiostimulator

39. Give the right definition of “noise” concept from hygienic point of view.

various sounds that a person to work, rest, and sleep, and has negative, irritating effect on him=
chaotic vibrations of mediums of different frequency and intensity

rhythmic vibrations of solid bodies of different frequency and intensity
chaotic elastic air vibrations of different frequency
all types of oscillations

40.
Name the factors increasing bad influence of the dust on the worker’s organism.

A Increased level of noise

B Increased humidity level=

C Lack of UV

D Lack of lighting

E Excess UV

Hospital hygiene

1. The hospital sanitary and hygienic project appraisal begins with the…

A. situational layout=

B. general layout

C. explanatory note

D. facades drawings

E. admission department

2. The most suitable hospital land sides’ ratio is…

A. 1:1

B. 1:2=

C. 1:3

D. 1:4

E. 1:5

3. The main drawback of centralized system of hospital site development is

A. complicated fight the nosocomial infections=

B. difficulty during the usage of the diagnostic measures

C. impossibility of the patients to stay outdoors

D. complications to transport the food

E. doubling of the physiotherapeutic measures

4. The hospital site housing density should not exceed… %

A. 1-5

B. 6-10

C. 12-15=

D. 21-25

E. 60 and more

5. The most appropriate ward windows orientation in Northern hemisphere is…

A. south-west

B. west and east

C. north-east, north

D. south and west

E. south-east and south=

6. The most reasonable system of hospital site development for multisectoral hospital is…

A. decentralized

B. centralized-blocked=

C. centralized

D. mixed (3-4 separate buildings)

E. mixed (5-6 separate buildings)

7. What can be evaluated from hygienic point of view during the assessment of the hospital land plot general layout?

A. Place of hospital in town

B. Place of school in town

C. Place of parks, roads, ponds in town

D. Functional zoning of the site and its area=

E. Position of the nearest residential settlement

8. The size of the hospital landscape zone must be not less than… m2 per one bed.

A. 10

B. 15

C. 20

D. 25=

E. 30

9. The distances between the walls with wards and doctors’ rooms windows of hospital buildings should be the

A. 20 m

B. 50 m

C. 2.5 of the opposite building height=

D. not less than 15 m

E. 10 m

10. Maximum allowable number of beds in ward section to adults is…

A. 5

B. 10

C. 15

D. 20

E. 30=

11.The size of the landscape zone must be not less than… m2
A. 10

B. 15

C. 20

D. 25=

E. 30

12.
Maximum allowable number of beds in ward section to adults is…

A. 10

B. 20

C. 30=

D. 40

E. 50

13. The most reasonable system of hospital site development for multisectoral hospital is…

A. decentralized

B. centralized-blocked=

C. centralized

D. mixed (3-4 separate buildings)

E. mixed (5-6 separate buildings)

14.
The distances between the walls with wards and doctors’ rooms windows of hospital buildings should be the

A. 20 m

B. 50 m

C. not less than 15 m

D. 10 m

E. 2.5 of the opposite building height=

15.
What can be evaluated from hygienic point of view during the assessment of the hospital land plot general layout?

A. Place of hospital in town

B. Place of school in town

C. Place of parks, roads, ponds in town

D. Functional zoning of the site and its area=

E. Position of the nearest residential settlement

16.
The main drawback of centralized system of hospital site development is

A. complicated fight the nosocomial infections=

B. difficulty during the usage of the diagnostic measures

C. impossibility of the patients to stay outdoors

D. complications to transport the food

E. doubling of the physiotherapeutic measures

17.
The most appropriate ward windows orientation in Northern hemisphere is…

A. south-west

B. west and east

C. north-east, north

D. south and west

E. south-east and south=

18.
The hospital sanitary and hygienic project appraisal begins with the…

A. explanatory note=

B. situational layout

C. general layout

D. facades drawings

E. admission department

19.
The hospital site housing density should not exceed… %

A. 1-5

B. 6-10

C. 12-15=

D. 21-25

E. 60 and more

20.
The most suitable land sides’ ratio is…

A. 1:1

B. 1:2=

C. 1:3

D. 1:4

E. 1:5

21. Operating room has the following microclimate parameters: air movement speed – 0.1 mph, average temperature – 20° C, relative humidity – 48%. Give the hygienic value of the operating room microclimate.

B. discomfort with increased air movement speed

C. discomfort with increased relative humidity

D. cooling discomfort

E. discomfort

F. comfort =

22. How many times during the day a ward must have wet cleaning with disinfectant?

B. 1

C. 2=

D. 3

E. 4

F. 5

23. To prevent nosocomial infection the solid wastes from dermatovenerological, surgery and TB departments must be…

B. disposed on tip beyond the city line

C. disposed on special places in cemetery 

D. buried in soil of the hospital land plot

E. buried in soil beyond the hospital land plot 

F. burned in special destructor set in hospital site=

24. Operating room has the following parameters: area – 38 m2, window orientation – north, level of luminescent illumination – 400 lx, air temperature - 27°C, ventilation rate – 10 times per hour (possibility of sterile air supply). What is fall short of hygienic requirements?

B. air temperature=

C. window orientation

D. level of luminescent illumination

E. area

F. ventilation rate

25. The ward of purulent postoperative department is cleaned up with 1% chloramine 1 time per day, aerated – 4 times per day, change of underwear – 1/week (in case of need –immediately), hygienic shower of patients – 1/week. Point out the shortcoming of sanitary-hygienic regimen of the ward.

B. inadequate concentration of chloramines

C. inadequate aeration

D. behind time change of underwear

E. insufficient number of cleaning=

F. insufficient number of hygienic shower of patients

26. What is minimum adequate rate of air sanation efficiency in hospitals?

B. 30%

C. 45%

D. 60%

E. 80%=

F. 95%

27. Operating room has the following parameters: area – 38 m2, window orientation – north, level of luminescent illumination – 200 lx, air temperature - 22°C, ventilation rate – 10 times per hour (possibility of sterile air supply). What is fall short of hygienic requirements?

B. air temperature

C. window orientation

D. level of luminescent illumination=

E. area

F. ventilation rate

28. What is the difference between box and semi-box?

B. presence of lavatory

C. presence of ward

D. presence of outward entrance=

E. presence of lock

F. presence of internal entrance
29. Box of infectious diseases unit has an area of 22 m2. How many beds this box is meant to?

B. 1=

C. 2

D. 3

E. 4

F. 5

30. Artificial illumination of the wards should be…

B. only general

C. general combined with local and night light=

D. only local (lighting fittings in lower part of wall)

E. night light combined with local

F. luminescent lamps combined with night light

31. What is the difference between box and semi-box?

B. presence of lavatory

C. presence of ward

D. presence of outward entrance=

E. presence of lock

F. presence of internal entrance

32. Artificial illumination of the wards should be…

B. only general

C. general combined with local and night light=

D. only local (lighting fittings in lower part of wall)

E. night light combined with local

F. luminescent lamps combined with night light

33. What is minimum adequate rate of air sanation efficiency?

B. 30%

C. 45%

D. 60%

E. 80%=

F. 95%

34. Box of infectious diseases unit has an area of 22 m2. How many beds this box is meant to?

B. 1=

C. 2

D. 3

E. 4

F. 5

35. Operating room has the following parameters: area – 38 m2, window orientation – north, level of luminescent illumination – 200 lx, air temperature - 22°C, ventilation rate – 10 times per hour (possibility of sterile air supply). What is fall short of hygienic requirements?

B. air temperature

C. window orientation

D. level of luminescent illumination=

E. area

F. ventilation rate

36. To prevent nosocomial infection the solid wastes from dermatovenerological, surgery and TB departments must be…

B. disposed on tip beyond the city line

C. disposed on special places in cemetery 

D. buried in soil of the hospital land plot

E. buried in soil beyond the hospital land plot 

F. burned in special destructor set in hospital site=

37. The ward of purulent postoperative department is cleaned up with 1% chloramine 1 time per day, aerated – 4 times per day, change of underwear – 1/week (in case of need –immediately), hygienic shower of patients – 1/week. Point out the shortcoming of sanitary-hygienic regimen of the ward.

B. inadequate concentration of chloramines

C. inadequate aeration

D. behind time change of underwear

E. insufficient number of cleaning=

F. insufficient number of hygienic shower of patients

38. Operating room has the following microclimate parameters: air movement speed – 0.1 mps,verage temperature – 20° C, relative humidity – 48%. Give the hygienic value of the operating room microclimate.

B. discomfort with increased air movement speed

C. discomfort with increased relative humidity

D. cooling discomfort

E. discomfort

F. comfort =

39. Operating room has the following parameters: area – 38 m2, window orientation – north, level of luminescent illumination – 400 lx, air temperature - 27°C, ventilation rate – 10 times per hour (possibility of sterile air supply). What is fall short of hygienic requirements?

B. air temperature=

C. window orientation

D. level of luminescent illumination

E. area

F. ventilation rate

40. How many times during the day a ward must have wet cleaning with disinfectant?

B. 1

C. 2=

D. 3

E. 4

F. 5

41.
As the result of increasing of purulent-septic complications after surgical treatment urgent examination for Staphilococcus carriage of surgical department medical personnel was conducted. In result of direct planting to vitelline- saline agar of upper tonsils material of doctor N. after 24 incubation hours under 37C temperature on Petri’s dish was revealed solid growth of colonies. What measure of purulent-septic complications prevention for posoperation patients is primary?

A.
doctor N must wear face shield (mask)

B.
temporary suspend doctor N from surgical operations

C.
smear nose with 1% hexachlorophene ointment

D.
prescibe to doctor N. rinsing of throat with 1% alcohol sollution of chlorphyliptum 3 times a day

E.
examination of stomatologist and otolaryngologist

42.
Analysis of postnatal ward air gave as next results: CO2 – 0,25%, ammonium – 3 mg/m3, oxidation – 6 mg/m3, general microbial pollution – 3600 microorganisms in 1 m3 of air, pathogenic Staphylococcus – 70 in 1 m3. From wash-outs of beds, walls and floor was planted pathogenic Staphylococcus. Pathogenic Staphylococcus was planted from nasopharynx of women recently confined – 15%, personnel – 20%, hands of women recently confined – 25%, from mammillas – 28%. What measure of nonspecific prevention will be the best in ths sytuation?

A.
chemical desinfectants

B.
physical desinfectants

C.
reveaing of carriages among personnel and patients

D.
sanitary-educational work among personnel and patients

E.
washing

43.
Outbreak of nosocomial infection was revealed in hospital. Name the method of specific prevention of nosocomial infection.

A.
isolation of sections and surgery blocks

B.
rational location of departments on floors

C.
emergency immunization

D.
zonning of hospital territory

E.
sanitary and antiepedemic measures

Hygiene of nutrition

1.
Preventive nutrition based on principles taking into account:

A.
peculiarities of xenobiotics metabolism=

B.
role of different parts of food

C.
worker’s sex

D.
climate conditions

E.
national peculiarities

2.
Products which used in diet nutrition promote to

A.
decreasing of harmful substances absorption from gastro-intestinal tract

B.
acceleration of xenobiotics elimination from organism

C.
increasing of general resistance

D.
protection of separate systems from toxic substances

E.
all listed=

3.
Diet and nutrition value of cottage cheese determines by

A.
good taste, high assimilation

B.
high calcium content

C.
high full-value protein and fat content

D.
possibility of cooking a lot of dishes

E.
all listed=

4.
Diet effectiveness of plant origin fats caused by

A.
good assimilation

B.
good organoleptic properties

C.
high vitamin A and D content

D.
polyunsaturated fatty acids content=

E.
high energy value

5.
Nutrition value of fruits and vegetables caused by

A.
they do not become boring

B.
vitamins and mineral substances content=

C.
high content of plant origin proteins

D.
xenobiotics content

E.
good organoleptic properties

6.
Nutrition value of milk products caused by

A.
vitamin of group B content

B.
good assimilation

C.
good consumer’s properties

D.
calcium lactate content=

E.
high vitamin C content

7.
Cod-liver oil is a source of

A.
carotene

B.
calciferol=

C.
vitamin C

D.
riboflavin

E.
tiamin

8.
Insufficient content of dietary fibers in food leads to

A.
atherosclerosis

B.
hemeralopy

C.
obesity

D.
kwashiorkor

E.
cancer of large intestine=

9.
Which product contains a lot of unprotected carbohydrates?

A.
buckwheat

B.
turnip

C.
honey=

D.
corn

E.
potato

10.
Preventive ration #1 prescribes for those who work in condition of ...... influence.

A.
inorganic lead compounds

B.
radioactive substances=

C.
base metals, chlorine

D.
nitro and amino compounds of benzene

E.
lead, inorganic mercury compounds

11.
Preventive ration #1 contains such products as

A.
lipotropic substances rich in

B.
which stimulate carbohydrates metabolism

C.
which stimulate secretory function of kidneys

D.
activate antioxidant system of organism

E.
all listed=

12.
Preventive ration #2 rich in

A.
carbohydrates

B.
full-value protein and polysaturated fatty acids=

C.
vitamin C

D.
microelements

E.
polyvitamins

13.
For workers who smelting metals prescribe free of charge vitamins. Which one?

A.
retinol, riboflavin, thiamin

B.
ascorbic acid=

C.
retinol, ascorbic acid

D.
riboflavin

E.
riboflavin, nicotinic acid

14.
Diet therapy base on:

A.
separated nutrition

B.
eating uncooked food

C.
small nutrition

D.
rational nutrition

E.
adequate nutrition=

15.
Diet nutrition needs correction of nutrients proportion which correspond to
A.
clinic current disease

B.
stage of disease

C.
metabolic disorders

D.
sex and age

E.
all listed=

16.
Combination of diet with drugs

A.
rise effectiveness of treatment=

B.
action antagonistic

C.
decrease negative effects of drugs

D.
prevent negative effects of drugs

E.
let to decrease drugs dose

17.
Adequate diet leads to

A.
readaptation of enzymes system=

B.
decreasing of water soluble vitamins excretion with urine

C.
blocking of fatty soluble vitamins in intestine

D.
increasing number of fat capsules in organs

E.
decreasing of basal metabolism

18.
Cooked food gives to patient in hospital just after

A.
testing by chef doctor

B.
testing by manager of a household

C.
testing by duty doctor=

D.
testing by duty nurse

E.
testing by duty cook

19.
Which product contains a lot of diet fibers?

A.
potato

B.
chocolate

C.
apples

D.
pumpkin=

E.
corn

20.
Who can’t work in kitchen?

A.
person with skin and face diseases=

B.
person with chronic gastroduodenitis

C.
person with chronic cholecystitis

D.
person with ostochondrosis

E.
person with vegetoasthenic syndrome

21.
Give the definition of the “rational nutrition” concept.

A. Nutrition which provides the proteins, fats and carbohydrates enough intake

B. Nutrition good in taste

C. Nutrition corresponds to body enzyme system possibilities

D.  Nutrition which provides optimal body growth and development, its high work capacity and longevity=

E. Nutrition corresponds to energy expenditures

22.
… is the main source of the carbohydrates

A. Berries

B. Cereals

C. Potato=

D. Dairy foods

E. Black crop

23.
… is taken into account during calculation of nutrients requirements
A. Intensity of labour

B. Daily energy expenditures=

C. Ideal body mass

D. Basal metabolism

E. Regimen of nutrition

24.
The richest in polyunsaturated fatty acids product is…

A. Butter

B. Beef fat

C. Fat-tail

D. Lard

E. Sunflower oil=

25.
Energy value of the products is determined by content of … in it.

A. Carbohydrates=

B. Flavoring agents

C. Mineral substances

D. Preservatives

E. Vitamins

26.
In which cases the energy value of daily allowance must exceed energy expenditures?

A. Pregnancy

B. Sportsman

C. Child

D. Breastfeeding=

E. Elders 

27.
High in calories are…

A. Fruits and vegetables

B. Fats=

C. Meat

D. Crops

E. Fish

28.
The most appropriate method of organized collectives nutrition characteristic is …

A. Questionnaire

B. Laboratory

C. Calculation by menu-schedule=

D. Sanitary inspection

E. Nutrition state evaluation

29.
How much fats of vegetable origin must be in daily allowance (of general account of fats) in %?

A. 10

B. 20

C. 25

D. 30=

E. 40

32.  … is taken into consideration during evaluation of biological value of the products.

A. Nutrient content=

B. Organoleptic properties

C. Food safety

D. Meals variety

E. Culinary cooking

33. Meat of which animal can be a source of invasion by trichinosis?

A. rabbit

B. pig=

C. livestock

D. lamb

E. poultry

34. What is the mean level of proteins in fish meat?

A. 4-7%

B. 7-13%=

C. 13-17%

D. 17-20%

E. 20-25% 

35. How much fat must be in milk according to standard?

A. no less then 1,5%

B. no less then 2,0%

C. no less then 2,5%=

D. no less then 3,0%

E. no less then 3,5%

36. Why milk is falsified by soda?

A. to decrease milk acidity=

B. to increase the bactericidal features of milk

C. to improve gustatory of milk

D. to increase relative density of milk

E. giving the salable conditions

37. Maximum of cellulose and minimum of carbohydrates are in … (very useful for elder people, for those who are employee of mental work)

A. millet

B. rice

C. semolina

D. pearl barley and barleycorn 

E. buckwheat and oats=

38. What quantity of iron fillings is allowable due in wheat to standard?

A. no less then 1 mg/1 kg of wheat

B. no less then 2 mg/1 kg of wheat

C. no less then 3 mg/1 kg of wheat=

D. no less then 4 mg/1 kg of wheat

E. no less then 5 mg/1 kg of wheat

39. What mineral is not enough in milk?

A. Calcium

B. Phosphorus

C. Iron

D. Copper

E. Iodine=

40. The most valuable protein is a compound of …

A. meat

B. fish

C. milk

D. eggs=

E. beans

41. What type of sugar is specific for milk?

A. fructose

B. sucrose

C. glucose

D. lactose=

E. maltose

42. Acidity of milk provided by…

A. lactic acid, phosphate and lactic salts=

B. mineral salts and phospfatecontaining substances

C. lactic and acetic acids

D. albumin and globulin

E. lactose

43.
Results of the milk sample examination: color- whitish; odor-without peculiarities, taste–milky, density-1,038, acidity-35˚Terner, fattiness-3,2%.

Determine level of milk quality.

A.
* poor quality

B.
high quality

C.
decreased quality

D.
adulterated

E.
relative good

44.
After examination of nutrition unit sanitary state sanitary inspector prohibited realization of some dishes because they can cause food poisonings. Which of listed dishes cannot be cooked at nutrition unit?

A. *meat-jelly

B. beef tea soup

C. milk porridge

D. meat and fish preservs

E. smoked sausage

45.
Patient was hospitalized to hospital with diagnosis – diphyllobothriasis (fish tapeworm disease). Eating of which fish caused this disease?

A. *river carp

B. walleye pollack

C. flounder

D. ocean perch

E.  ocean halibut

46.
Which of listed fruits or berries quicken heavy metals excretion from organism?

A. sea-buckthorn

B. pear

C. *apple

D. Blackberry

E. plums

